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Abstract

This research project has three objectives: 1. to develop a computer program that can calculate
these engineering economic values: net present value, annual worth, future worth, internal rate of
return, payback period, loan analysis, depreciation, nominal and effective interest rates, different
compound and discount factors and after-tax cash flow analysis, 2. to develop effective teaching media
for students who study engineering economy and 3. to develop a tool that assists other people who are
interested in performing an investment decision.

The research process starts with data collection. The collected data concerns the
characteristics of similar engineering economic computer programs that are used today. Each program
is analyzed for its strengths and weaknesses. After the analysis the researcher focuses on the design of
the computer program. Important factors considered in the program design are the user interface, the
input values, the algorithm efficiency and the output presentation method. The researcher and his
assistant programmier test the accuracy of the computer program by using several examples from many
engineering economic textbooks. The results were satisfactory; the program has the ability to calculate
all the required values with sufficient accuracy suitable for real-world applications.

In short, this research produced a computer program that performs engineering economic
calculations. It serves as an analysis tool for investment decision making and as teaching media for
students who intend to learn engineering economy. Thai people’s ability to produce this program
results in less dependency on computer programs imported from other countries. This helps create é

more self-sustained economic development within Thailand.
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Form :
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CTR_Hnen Ml
Source Code :

VERSION 5.00

Begin VB.Form frmProj

Caption = "Joyalasans"
ClientHeight = 1680
ClientLeft = 60

ClientTop = 345
ClientWidth = 3495

Icon = "frmProj.frx":0000
LinkTopic = "Forml1"
MDIChild = -1 'True

ScaleHeight = 1680
ScaleWidth = 3495
Begin VB.TextBox txtProjName
BeginProperty DataFormat
Type = 0
Format = "Q"
HaveTrueFalseNull= 0

FirstDayOfWeek = 0



FirstWeekOfYear= 0
LCID = 1033

SubFormatType = 0

EndProperty

BeginProperty Font

Name = "MS Sans Serif"
Size = 975

Charset = 222

Weight = 400

Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False

EndProperty
Height = 285
Left = 1320
Tablndex =0
Top = 240
Width = 2055
End

Begin VB.TextBox txtProjYear
BeginProperty DataFormat
Type =0
Format = "Q"
HaveTrueFalseNull= 0
FirstDayOfWeek = 0
FirstWeekOfYear= 0
LCID = 1033

SubFormatType = 0

EndProperty
BeginProperty Font
Name = "MS Sans Serif"

frmProj.frm



Size = 9075
Charset = 222
Weight = 400
Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False

EndProperty
Height = 285
Left = 2280
TablIndex =1
Top = 720
Width = 495
End

Begin VB.CommandButton btnOK

Caption = "ane"

Default = -1 '"True
BeginProperty Font

Name = "MS Sans Serif"
Size = 9.75

Charset = 222

Weight = 400

Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False

EndProperty
Height = 375
Left = 2280
Tablndex =5
Top = 1200
Width = 1095
End

frmProj.frm
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Begin VB.CommandButton btnCancel

Caption = "gnian"
BeginProperty Font

Name = "MS Sans Serif”
Size = 9.75

Charset = 222

Weight = 400

Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False

EndProperty
Height = 375
Left = 1080
Tablndex = 6
Top = 1200
Width = 1095
End

Begin VB.TextBox txtYearCalculate

BeginProperty DataFormat
Type =0
Format = "Q"

HaveTrueFalseNull= 0
FirstDayOfWeek = 0
FirstWeekOfYear= 0
LCID = 1033

SubFormatType = 0

EndProperty

BeginProperty Font
Name = "MS Sans Serif"
Size = 975
Charset = 222

frmProj.frm
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Weight = 400
Underline = 0 'False
Italic = ( 'False

Strikethrough = 0 'False

EndProperty
Height = 285
Left = 2280
Tablndex = 2
Top = 1200
Visible = 0 'False
Width = 495
End
Begin VB.Label Label5
AutoSize = -1 'True
Caption = g
BeginProperty Font
Name = "MS Sans Serif"
Size = 9.75
Charset = 222
Weight = 400
Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False

EndProperty

Height = 240
Left = 2880
TablIndex =9
Top = 1200
Visible = ( 'False
Width = 105
End

frmProj.frm



Begin VB.Label Label4
AutoSize = -1 "True
Caption = qJr
BeginProperty Font
Name = "MS Sans Serif"
Size = 9.75
Charset = 222
Weight = 400
Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 ‘'False

42

EndProperty
Height = 240
Left = 2880
Tablndex = 8
Top = 720
Width = 105
End
Begin VB.Label Label2
AutoSize = -1 "True
Caption = "3.5zozna1fidesmImuln”
BeginProperty Font
Name = "MS Sans Serif"
Size = 9.75
Charset = 222
Weight = 400
Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False
EndProperty
Height = 240

frmProj.frm
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Left = 120

Tablndex = 7

Top = 1200

Visible = 0 'False

Width = 2025
End
Begin VB.Label Label3

AutoSize = -1 '"True
Caption = "2.520za1@WluIATaNIs"
BeginProperty Font

Name = "MS Sans Serif"

Size = 9.75

Charset = 222

Weight = 400

Underline = 0 'False

Italic = ( 'False

Strikethrough = 0 'False

EndProperty
Height = 240
Left = 120
Tablndex = 4
Top = 720
Width = 1905
End
Begin VB.Label Labell
AutoSize = -1 "True
Caption = "1. Felasens”
BeginProperty Font
Name = "MS Sans Serif"
Size = 9.75
Charset = 222

frmProj.frm



Weight = 400
Underline = 0 'False
Italic = 0 'False
Strikethrough = 0 'False
EndProperty
Height = 240
Left = 120
TabIndex =3
Top = 240
Width = 1005

End

End

Attribute VB_Name = "frmProj"
Attribute VB_GlobalNameSpace = False
Attribute VB_Creatable = False
Attribute VB_Predeclaredld = True
Attribute VB_Exposed = False

Option Explicit

Dim FirstLoad As Boolean

Private Sub btnCancel Click()

Unload Me

End Sub

Private Sub btnOK_Click()
Dim isFormValid As Boolean

Dim warningMsg As String

isFormValid = True
'‘asanaeuNf 1 Ttoude Iasansnie b
If Trim(txtProjName.Text) = "" Then

isFormValid = False

frmProj.frm
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warningMsg = warningMsg & "- ﬁmﬁzu%aimami" & vbCrLf
End If
'ﬁia%ﬁauiwé’i%’ﬂau%aimamscﬁm?a"laj Check no duplicate project name
Dim i As Integer
i=1
Do Until i > LastIndex Or (Not isFormValid)
If txtProjName.Text = ProjSlot(ProjIndex(i)).ProjName Then
isFormValid = False
warningMsg = warningMsg & "- %@Tﬂidmiﬁ}ﬂﬂﬁ%ﬁu" & vbCrLf
txtProjName.SelStart = 0: txtProjName.SelLength = Len(txtProjName.Text)
End If
i=i+1
Loop
"asdveeudlddousandfusmauduninnie’l  Check amount of year that must > 0
and <= maxyear
If Int(Val(txtProjYear.Text)) <= 0 Or Int(Val(txtProjYear.Text)) >= MaxYear Then
isFormValid = False
warningMsg = warningMsg & "- Insemsdesiiszeznarduiiuauediades 11 uazgegalal
(AU " & MaxYear & " 1" & vbCrLf
txtProjYear.SelStart = 0: txtProjYear.SelLength = Len(txtProjYear.Text)
End If
Fidmnanzdeaioonimionfuszezna11asams  Check calculate year that must =
ProjYear
If Val(txtYearCalculate. Text) > Val(txtProjYear. Text) Then
isFormValid = False
warningMsg = warningMsg & "- syeznafidesmsiunudedaosnimenifussey
naE Ui InsInN1s" & vbCrLf

End If

If isFormValid Then

If ProjMode = "new" Then

frmProj.frm
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Aumgesndmiunumasg veelnsemsivy  Find blank array to assign as this new
project
Dim SlotSearch As Integer, FoundSlot As Boolean
Do
SlotSearch = SlotSearch + |
If ProjSlot(SlotSearch).Flag = 0 Then FoundSlot = True
Loop Until FoundSlot Or SlotSearch = MaxProj
If Not FoundSlot Then
MsgBox " liiemnsaiiinTasents nyI4 ilosnnd i Tasemsgegafe " & MaxProj
& " IA54M15", vbOKOnly, "Auuz1ir”
Exit Sub
End If
LastIndex = LastIndex + 1
Curlndex = LastIndex
ProjIndex(LastIndex) = SlotSearch
frmNPV.cboProj.AddItem (txtProjName.Text)
End If 'If ProjMode = "new" Then
ProjSlot(ProjIndex(Curlndex)).Flag = 1
ProjSlot(ProjIndex(Curlndex)).ProjName = txtProjName. Text
ProjSlot(ProjIndex(CurIndex)).ProjYear = Int(Val(txtProjYear.Text))
ProjSlot(ProjIndex(Curlndex)).YearCalculate = Int(Val(txtYearCalculate. Text))
Dim j As Integer
For j = 0 To ProjSlot(ProjIndex(Curlndex)).ProjYear
ProjSlot(ProjIndex(Curlndex)).income(j) = 0
ProjSlot(ProjIndex(Curlndex)).outcome(j) = 0
ProjSlot(ProjIndex(Curlndex)).Net(j) = 0

Next

ProjMode = "change"
Unload Me

]
Ao

i o a . .
Else lunsdififldnsondoyalimuysaivionsenianaia  isFormValid = False then

frmProj.frm
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MsgBox "fillugsin" & vbCrLf & warningMsg, vbOKOnly, "ﬂ’l'aﬁﬂwmmﬁmﬁu%y,aiﬂﬂ
15"

End If
End Sub

Private Sub Form_Load()
FirstLoad = True
'‘asvapuiivilsanus uiiganed iy TasamsInainsel  Check Free memory for new
project
If LastIndex >= MaxProj Then
MsgBox " liansaiin Insans nal18 iffesninsanTasamsgegaiie " & MaxProj &
TA39M15", vbOKOnly, "Atugiin"
Exit Sub
End If
End Sub

Private Sub Form_Resize()

If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me. Width = 3615
Me.Height = 2085

End If

End Sub

Private Sub txtProjYear_Change()
If FirstLoad Then txtYearCalculate. Text = txtProjYear. Text

End Sub

Private Sub txtProjYear KeyPress(KeyAscii As Integer)
If Not KeyAscii >= Asc("0") And KeyAscii <= Asc("9") Then
Exit Sub

End If

frmProj.frm



48

End Sub

Private Sub txtYearCalculate KeyPress(KeyAscii As Integer)

If Not KeyAscii >= Asc("0") And KeyAscii <= Asc("9") Then
Exit Sub

End If

End Sub

frmProj.frm
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Source Code :
VERSION 5.00
Object = "{5E9E78A0-531B-11CF-91F6-C2863C385E30}#1.0#0"; "MSFLXGRD.OCX"
Begin VB.Form frmNPV
Caption = "NPV, IRR and PB"
ClientHeight = 6600
ClientLeft = 60

ClientTop = 345



ClientWidth
Icon =
LinkTopic
MaxButton
MDIChild
ScaleHeight

ScaleWidth

50

8745
"frmNPV.frx":0000

NForrn 1 n

0 'False

-1 "True

6600

8745

Begin VB.TextBox txtlnfla

Height

Left

TabIndex

Top

Width
End

285
5760

28
840

615

Begin VB PictureBox Picturel

Height

Left
ScaleHeight
ScaleWidth
TablIndex
Top
Visible
Width

2775
600

2715

2595

26
2400

0 'False

2655

Begin MSFlexGridLib.MSFlexGrid FG2

Height
Left
Tablndex
Top
Width
_ExtentX

_ExtentY

frmNpv.frm

2775

2295
4048

4895

I



_Version = 393216

AllowBigSelection= 0 'False

End
End
Begin VB.Frame Frame3
Caption = "Hifideamsniw®
Height = 1695
Left = 4680
Tablindex = 21
Top = 2280
Width = 3975
Begin VB.CheckBox Check]
Caption = "FW"
Height = 195
Index = 2
Left = 3240
TabIndex = 34
ToolTipText = "Future Worth"
Top = 270
Width = 615
End
Begin VB.CheckBox Checkl
Caption = "AW"
Height = 195
Index = ]
Left = 2520
Tablndex = 33
ToolTipText = "Annual Worth"
Top = 270
Width = 615
End

frmNpv.frm
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Begin VB.CheckBox Check1

Capion = "yamilegugns (NPV)"
Height = 195

Index =0

Left = 390

TabIndex = 32

Tag = "1

ToolTipText = "Net Present Value"
Top = 270

Value = 1 'Checked

Width = 2055

End

Begin VB.OptionButton optOutputType

Caption = "Ipsemsfiafiqa Amuamuda NPV
Height = 255

Index =3

Left = 120

Tablndex = 25

Top = 1320

Width = 2775

End

Begin VB.OptionButton optOutputType

Caption = "§EUZINAUNU (PB)"
Height = 255

Index = 2

Left = 120

TabIndex = 24

Top = 960

Width = 1815

End

Begin VB.OptionButton optOutputType

frmNpv.frm



Caption = "IRR"

Height = 255
Index = 1
Left = 120
TabIndex = 23
Top = 600
Width = 615
End

Begin VB.OptionButton optOutputType

Height = 255
Index =0
Left = 120
TablIndex = 22
Top = 240
Value = -1 '"True
Width = 255
End
End
Begin VB.Frame Frame2
Caption = "JEfuau"
Height = 975
Left = 4680
Tablndex = 15
Top = 1200
Width = 3975
Begin VB.TextBox txtTax
Height = 285
Left = 2220
TabIndex = 18
Top = 550
Width = 495

frmNpv.frm



End

Begin VB.OptionButton optCalType

Caption = "Suldnduinmde
Height = 255

Index =1

Left = 120

TablIndex = 17

Top = 580

Width = 1550

End

Begin VB.OptionButton optCalType

Caption = "SQu'ldneuinadr
Height = 255
Index =0

Left = 120
TabIndex = 16
Top = 240
Value = -1 '"True
Width = 1695
End
Begin VB.Label Label4
AutoSize = -1 True
Caption = "md"
Height = 195

Left = 1830
TabIndex = 20

Top = 595
Width = 300

End

Begin VB.Label Label5
AutoSize = -1 "True

frmNpv.frm
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Caption = "o"

Height = 195
Left = 2800
TablIndex = 19
Top = 595
Width = 120
End
End

Begin VB.CommandButton cmdDepreciation

DisabledPicture = "frimNPV.frx":0442

BeginProperty Font

Name = "MS Sans Serif"
Size = 12

Charset = 222

Weight = 400

Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False

EndProperty

Height = 300

Left = 4200

MaskColor = &HOO000FF00&
Picture = "frimNPV.frx":0846
Style = 1 'Graphical

Tablndex = 14

ToolTipText = "doyafudousiar
Top = 120

UseMaskColor = -1 'True

Width = 375

End

Begin MSFlexGridLib.MSFlexGrid FG1

frmNpv.frm
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Height = 5925
Left = 120
Tablndex = {
Top = 600
Width = 4455
_ExtentX = 7858
_ExtentY = 10451
_Version = 393216
Rows =0
Cols =0
FixedRows =0
FixedCols = 0

AllowBigSelection= 0 'False
AllowUserResizing= 1

BeginProperty Font {0BE35203-8F91-11CE-9DE3-00AA004BB851}

Name = "MS Sans Serif"
Size = 9.75

Charset = 222

Weight = 400

Underline = (0 'False
Italic = ( 'False

Strikethrough = 0 'False
EndProperty
End

Begin VB.CommandButton cmdNewProj

BeginProperty Font

Name = "MS Sans Serif"
Size = 12

Charset = 222

Weight = 400

Underline = 0 'False

frmNpv.frm
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Italic = 0 'False

Strikethrough = 0 'False

EndProperty

Height = 300

Left = 3240

MaskColor = &HOO000FF00&
Picture = "frmNPV frx":0C4A
Style = 1 'Graphical
TabIndex = 12

ToolTipText = "wiinInsenslnyr
Top = 120

UseMaskColor = -1 'True
Width = 375

End

Begin VB.CommandButton cmdDelProj
DisabledPicture = "frmNPV.frx":104E

BeginProperty Font

Name = "MS Sans Serif"
Size = 12

Charset = 222

Weight = 400

Underline = 0 'False
Italic = ( 'False

Strikethrough = 0 'False

EndProperty

Height = 300

Left = 3720

MaskColor = &HOO00FF00&
Picture = "frmNPV frx":1452
Style = 1 'Graphical
TabIndex = 11

frmNpv.frm



58

ToolTipText = "aulasensii"
Top = 120
UseMaskColor = -1 'True
Width = 375

End

Begin VB.ComboBox cboProj

Height = 315

Left = 840

Style = 2 'Dropdown List
Tablndex = 10

Top = 120

Width = 2295
End

Begin VB.CommandButton btnCalPB

Caption = "fMWINTZTOZIMAUNY (PB)"
Height = 540
Left = 7200
TablIndex = 9
Top = 480
Visible = ( 'False
Width = 1455
End

Begin VB.CommandButton cmdCalculate

Caption = "fun”
Default = -1 "True
Height = 395

Left = 5640
TablIndex = §

Top = 6120
Width = 1455
End

frmNpv.frm



Begin VB.CommandButton cmdBackToMenu

Caption = "gan"
Height = 395
Left = 7200
TabIndex =7

Top = 6120
Width = 1455
End

Begin VB.CommandButton btnCallRR

Caption = "fud0l IRR"
Height = 300

Left = 7200
TabIndex =6

Top = 240
Visible = ( 'False
Width = 1455

End
Begin VB.Frame Framel
Caption = "fuzi
Height = 1935

Left = 4680
TablIndex = 4

Top = 4080
Width = 3975

Begin VB.Label txtOutput

Height = 1575
Left = 120
TabIndex =5
Top = 240
Width = 3735
End

frmNpv.frm



60

End

Begin VB.TextBox txtInt

Height = 285
Left = 5760
TablIndex =2
Top = 480
Width = 615
End

Begin VB.CommandButton btnCalNPV

Caption = "SI NPV"
Height = 300

Left = 7200

Tablndex =1

Top =0

Visible = (0 'False
Width = 1455
End

Begin VB.Label Label7

AutoSize = -1 'True
Caption = "%"
Height = 195
Left = 6480
TabIndex = 3]

Top = 525
Width = 120
End

Begin VB.Label Label6

AutoSize = -1 "True
Caption = "%"
Height = 195
Left = 6480

frmNpv.frm



TabIndex = 30

Top = 885
Width = 120
End
Begin VB.Label Label10
AutoSize = -1 "True
Caption = "$ar1duiile"
Height = 195
Left = 4680
TabIndex = 29
Top = 885
Width = 915
End
Begin VB.Label Label3
AutoSize = -1 '"True
Caption = "lAsenis"
Height = 195
Left = 120
TablIndex = 13
Top = 165
Width = 615
End
Begin VB.Label Label2
AutoSize = -1 "True
Caption = "SnsIneniEe
Height = 195
Left = 4680
Tablndex = 3
Top = 525
Width = 945
End

frmNpv.frm
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End

Attribute VB_Name = "frmNPV"
Attribute VB_GlobalNameSpace = False
Attribute VB Creatable = False
Attribute VB_Predeclaredld = True
Attribute VB_Exposed = False

Option Explicit

Dim st As String
Dim tax As Double

Dim want2Move As Boolean

Dim curX As Integer, curY As Integer

Dim Clipboard As String

Dim ColDown As Integer, RowDown As Integer
Dim ColUp As Integer, RowUp As Integer

Dim CopyFlag As Integer

Function FCaINPV(ByVal ProjID, ByVal Interest As Double)

Dim NPV As Double, Depre As Double

Dim factor As Double, PV As Double

Dim nLoop As Integer

Dim i

Dim BTCF As Double, Ti As Double, IncomeTax As Double, ATCF As Double
'f‘imuﬂﬁwﬁuﬁ'ﬂﬁ NPV=0 Init pre-calculation value

NPV =0

FURIUIUNI NPV caleulate NPV - - - < == == =~ < == <ol
If isSoldAsset And optCalType(1).Value Then

nlLoop = SoldYear

frmNpv.frm
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Else

nLoop = ProjSlot(ProjIndex(ProjID)).YearCalculate
End If

AW NEMTUUAAINAANT Decorate FG2's header
FG2.Clear
Call DecorateFG2
For 1=0 To nLoop
factor = (1 + Interest) i 'factor ﬁ?ﬂmﬁ1‘§ﬁ1uﬁmﬂ1 NPV 1143 (period) ﬂﬂﬁﬁu factor is

used to calculate NPV

If optCalType(1).Value Then "l‘uﬂ‘iiﬁﬁﬁm’smlmvﬁuﬂﬁﬁﬁﬂﬁ'ﬂﬂ”lﬁ (After-Tax Cash Flow)
cal ATCF ----~-------c-commmmme -
If UBound(D2Array, 1) >=i Then
Depre = D2Array(i)
Else
Depre=0
End If
BTCF = ProjSlot(ProjIndex(ProjID)).Net(i)
Ti=BTCF - Depre
IncomeTax = -Ti * tax
ATCF = BTCF + IncomeTax
Ifi=0Then ‘MilusndeidluGuasmu azdelifimsfuruni  dont calculate tax in first
year
Ti=0
IncomeTax =0
ATCF = BTCF
End If
PV = ATCF / factor
NPV =NPV + PV

If optOutputType(0). Value Then "iunadniaaly FG2  store current data in FG2

frmNpv.frm
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FG2.Row=i+1
FG2.Col = 1: FG2.Text = BTCF
FG2.Col =2: FG2.Text = Depre
FG2.Col =3: FG2.Text=Ti
FG2.Col = 4: FG2.Text = IncomeTax
FG2.Col =5: FG2.Text = ATCF
End If
Else lunsdifidmnuuuiulfiensinail Before-Tax Cash Flow) cal BTCF - - - - - - - - -
PV = ProjSlot(ProjIndex(ProjID)).Net(i) / factor
NPV = NPV + PV
End If

Next

Tunséifimsneduning Willineduning Agato) szuansdoyaifoadu yamiine 1]
(Market Value,MV), Book Value ,mﬁ uaxém
If optCalType(1).Value And isSoldAsset Then unsdRAIMLDY ATCE waziinmsuedu
nind vzuandoyacal ATCF - - -~ - === - -memcemmm e

Dim BTCF2 As Double, Ti2 As Double, IncomeTax2 As Double, ATCF2 As Double

BTCF2 = MV

Ti2 = TlinCaseOfSoldAsset

IncomeTax2 = -TlinCaseOfSoldAsset * tax

ATCF2 = BTCF2 + IncomeTax2

FG2.Rows =nLoop + 3

FG2Row=1+1

FG2.Col =0: FG2.Text=1i-1

FG2.Col = 1: FG2.Text = BTCF2

FG2.Col = 2: FG2.Text =0 'Auffousian

FG2.Col = 3: FG2.Text = Ti2 'voaidu 1&f ez 19 maand

FG2.Col = 4: FG2.Text = IncomeTax2

frmNpv.frm
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FG2.Col =5: FG2.Text = ATCF2
PV = ATCF2 / factor
NPV =NPV + PV

End If

FCaINPV = NPV

End Function

Function FCaINPV4IRR(ByVal ProjID, ByVal Interest As Double)
Dim NPV As Double, Depre As Double
Dim factor As Double, PV As Double
Dim nLoop As Integer
Dim i
Dim BTCF As Double, Ti As Double, IncomeTax As Double, ATCF As Double
'ﬁmuﬂﬁuénﬁ’u"lﬁ' NPV=0 Init pre-calculation value
NPV =0
15URMUIUNT NPV calculate NPV < - - - - - -« - = - - -~ R e e TR TP
If isSoldAsset And optCalType(1).Value Then
nLoop = SoldYear
Else
nLoop = ProjSlot(ProjIndex(ProjID)).YearCalculate
End If

AT WA RS ULAAIHAEWS Decorate FG2's header
FG2.Clear
Call DecorateFG2

For i=0 To nLoop
factor = (1 + Interest) ~i 'factor ﬁaﬂmﬁwﬁwmmm NPV 113l (period) T1ag1fu  factor is

used to calculate NPV
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If optCalType(1).Value Then '“luﬂiﬁﬁﬁmmamuﬁu"ﬁwﬁaﬁﬂmﬁ (After-Tax Cash Flow)
cal ATCF -=----=--=----=-=---==-==-=
If UBound(D2Array, 1) >=1 Then
Depre = D2Array(i)
Else
Depre =0
End If
BTCF = ProjSlot(ProjIndex(ProjID)).Net(i)
Ti= BTCF - Depre
IncomeTax = -Ti * tax
ATCF = BTCF + IncomeTax
(Fi=0Then “lilusndediufuamu sxfalifimsdnnumy  dont calculate tax in first
year
Ti=0
IncomeTax =0
ATCF = BTCF
End If
PV = ATCF / factor
NPV =NPV + PV
If optOutputType(0).Value Then wRunaaniaalu FG2  store current data in FG2
FG2.Row=i+1
FG2.Col = 1: FG2.Text = BTCF
FG2.Col = 2: FG2.Text = Depre
FG2.Col = 3: FG2.Text = Ti
FG2.Col = 4: FG2.Text = IncomeTax
FG2.Col = 5: FG2.Text = ATCF
End If
Ese  unsdifigsnnunuuiduldneurinall (Before-Tax Cash Flow) cal BTCE == - - - ===~
PV = ProjSlot(ProjIndex(ProjID)) Net(i) / factor

NPV = NPV + PV
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End If

Next

Tunsdifimsvieduning Wilinedunswg dgahe) wuaasdeyaifioady yamivield
(Market Value,MV), Book Value ,mﬁ uazéuq
If optCalType(1). Value And isSoldAsset Then "TunsSififuaniLy ATCF yasfinmsviody
NSNS vzuandoyacal ATCF <« == =< e oooomeem .

Dim BTCF2 As Double, Ti2 As Double, IncomeTax2 As Double, ATCF2 As Double

BTCF2 =MV

Ti2 = TlinCaseOfSoldAsset

IncomeTax2 = -TlinCaseOfSoldAsset * tax

ATCF2 = BTCF2 + IncomeTax2

FG2.Rows =nlLoop + 3
FG2Row=1i+1
FG2.Col=0: FG2.Text=1i-1
FG2.Col = 1: FG2.Text = BTCF2
FG2.Col =2: FG2.Text =0 'Auffousinn
FG2.Col = 3: FG2.Text = Ti2 'voaidu I&f oz 14 nmnnil
FG2.Col = 4: FG2.Text = IncomeTax2
FG2.Col = 5: FG2.Text = ATCF2
PV = ATCF2 / factor
NPV = NPV + PV

End If

FCalNPV4IRR = NPV

End Function

Private Sub btnCallRR_Click()
Dim k As Integer, maxLoop As Integer
¥ I 4
Dim i As Double, oldi As Double, maxInt As Double '@3t61)s ‘]gﬂual‘lsfltﬁum "ADNLUY" interest

Dim iStep As Double, initiStep As Double, decStepiFactor As Double
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Dim errAllow As Double

Dim NPV As Double, 0ldNPV As Double, firstNPV As Double
Dim justFoundIRR As Boolean

Dim IRR(10) As Double

Dim nLoopFoundIRR(10) As Integer

ReDim IncomeArray(FG1.Rows - 1)

Dim Int_NPV() As Double

ReDim Int NPV(FG1.Rows - 1, 2)

tax = Val(txtTax.Text) / 100

If optCalType(1).Value And (Not calculatedDepre) Then

If (vbYes = MsgBox("Yoya liifivanofivgfaa & vbCrLe & "ilesningaudensan
nn 13 ldndaianl (ATCH)" & vberLt & "udnmialildnsendeyaifvafu Audeusiar
& VbCrLf & vbCrLt & "guideamsnsondoyasudeusimnie i, vbYesNo, "§ifioum) Then

cmdDepreciation_Click

End If

Exit Sub
End If

14 ’ ) ) v

i =-0.99 ‘vaswenidusududmsuldunuauien IRR, sunsonldsuduswaunidesns 14

1 ¥
1 IS uAaA 0.001  first init interest. this number can be any value

o A o o = 1 { = 3 Lﬁ'dy
maxInt = 5 '"TIUIUNINEMTVNAVAT IRR Rawnsodl ldnavua Tuniife s
F4 ' I

initiStep = 0.01 '"¥1nenDoisuAuNe 19nse Taania IRR
. . ' & < ay ' L
iStep = initiStep "¥9nvmbonsniive1¥nse IaanA) IRR  first init interest step
decStepiFactor = 0.1 'init interest factor

Y d' 3 @ o o [ =] ] ~ LY
k=1 dudsilddu §ulur dwmsunganmisiuseunsailimsuseuannnimismiiuseu

gafgﬂﬁagmm (maxLoop) k is counter to terminate infinite loop
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o dl =\ ¥ U U ¥
maxLoop =500 '$1uinsevugeganivenldnaiulunsmai IRR maduseuunaiiazen
£ 4
1@nNNITNY IRR AU

errAllow = 0.00001 'AINAAIAIAAIUVBI NPV fivensy'ld

oldNPV = FCaINPV4IRR(Curlndex, 1)
oldi=1i
i=1+ iStep
gdmium IRR Wanun Loop to find all IRR
Do
NPV = FCalNPV4IRR(Curlndex, 1)

If oldNPV * NPV >0 Then 'ns@ifi NPV uae oldNPV finSearmnemilousiu  both of
NPV have same sign
k=k+1
oldNPV = NPV
oldi=1i
i=1i+iStep
Elself oldNPV * NPV < 0 Then 'oldNPV 11ag NPV S1n304u10 (+, ) #1974 mean one of
NPV is less than 0 and other one is more than 0 so this function is cut the x axis
Dim NPVGuessIntl As Double, NPVGuessint2 As Double, NPVAvgGuess As Double
Dim guessIntl As Double, guessInt2 As Double, avgGuess As Double, newAvgGuess As
D01;b1e
Dim foundIRR As Boolean

Dim debugVar

guessIntl = oldi: guessInt2 =i
NPVGuessInt]l = FCaINPV4IRR(Curlndex, guessintl)
NPV GuessInt2 = FCaINPV4IRR(Curlndex, guessint2)
Do

k=k+1
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avgQGuess = (guessInt] + guessint2) / 2#

NPVAvgGuess = FCaINPV4IRR(Curlndex, avgGuess)

'NPVGuesslntl NPVAvgGuess NPVGuessInt2

' I I I
¥ 9 -4 ,

' | ATUT Y | AU |

' | I |

If NPVGuessnt] * NPVAvgGuess < 0 Then 'A1 IRR agaudnousaduutis aasiulis

Fudoanfidun Tasmsfmuasasdmiuma IRR s IRR s at left side
guessint2 = avgGuess
NPVGuessint2 = FCaINPV4IRR(Curlndex, guessInt2)
Elself NPVGuessInt2 * NPV AvgGuess < 0 Then ' IRR 8gdmuuntveudutis daiy
s ududesmiidude Taomsmmuasad miumiat IRR 1y IRR is at right side
guessintl = avgGuess
NPVGuessIntl = FCaINPV4IRR(Curlndex, guessInt])
End If
newAvgGuess = (guessintl + guessint2) / 2#
foundIRR = Abs((newAvgGuess - avgGuess) / newAvgGuess) <= errAllow
Loop While Not foundIRR And k < maxIoop
If foundIRR Then 'IRR wgmﬁu‘l%’ﬁﬁmﬂs avgGuess  IRR is stored in avgGuess
IRR(0) = IRR(0) + 1
IRR(IRR(0)) = Round(avgGuess * 100, 3)

nLoopFoundIRR(IRR(0)) = k
A o 2 Y ° Ay VA @
"IN IRR AT UNLRND %zmﬂuﬂmtsmuiwmwam IRR ?‘I’Jﬁ'é]llll when found
IRR will set i by i+iStep to find next IRR

oldi=i

oldNPV = NPV
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iStep = initiStep
i=1+iStep
End If
e lunsdin NPV daladamilauiiu o WnSenidoum iaenidy) A ld NPy i 0
mean one of NPV is 0 so find the interest that make NPV is 0
T S S Bt i et i i e o e i e e e e i i
Dim IRRis As Double
If oldNPV = 0 Then
IRRis = oldi
Else
IRRis =i
End If
IRR(0) = IRR(0) + 1
IRRUIRR(0)) = Round(avgGuess * 100, 3)

nLoopFoundIRR(IRR(0)) = k
k=k+1
End If 'If oldNPV * NPV > 0 Then 'mean both of NPV have same sign

Loop While i < maxInt And k < maxLoop And IRR(0) < UBound(IRR)

If IRR(0) > 0 Then

txtOutput = "SATIHARBLINUAD "

If IRR(0) = 1 Then
txtOutput = txtOutput & IRR(1) & "%"

Elself IRR(0) > 1 Then
Fori= 1 To IRR(0) - 1: txtOutput = txtOutput & IRR() & "%, ": Next
txtOutput.Caption = Left(txtOutput.Caption, Len(txtOutput.Caption) - 2)
txtOutput = txtOutput & " UAT " & IRR() & "%"

End If

Else
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xtOutput = " I usafuIs IRR 14
End If
End Sub

Private Sub btnCaINPV_Click()
Dim i As Integer, nNFWAW As Integer
Dim Interest As Double, maxNPVProj As Integer
Dim advice As String
If optCalType(1).Value And (Not calculatedDepre) Then
If (vbYes = MsgBox("¥oya liifisaneiingfuter & vberLf & "ileaningaudondiuim
wuy S ldndainnd (ATCF)" & vberLt & "uaqads i idnsendoyaifuafy udensian
& vbCrLf & vbCrLf & "ﬂmé\’mmsﬂsaﬂ%gaﬁuﬁ'@mmm?@"laj", vbYesNo, "fifBU") Then
Call cmdDepreciation_Click
End If
Exit Sub
End If
Interest = (Val(txtInt. Text) + Val(txtInfla. Text) + Val(txtInt. Text) * Val(txtInfla.Text) / 100) / 100

tax = Val(txtTax.Text) / 100

advice ="1."
If optOutputType(0).Value = True Then '¥i1 NPV 04 1A59NS ‘fﬁﬂi 3N151ABY  calculate this
project NPV »
maxNPVProj = Curlndex
ProjSlot(ProjIndex(Curlndex)).NPV = Round(FCaINPV(CurIndex, Interest), 1)
Else '¥1 NPV 4841n339n13 ﬁywuﬂ calculate all projects for NPV
maxNPVProj =1
Dim iProj As Integer
For iProj = 1 To LastIndex
ProjSlot(Projindex(iProj)).NPV = Round(FCalNPV(iProj, Interest), 1)
If ProjSlot(ProjIndex(iProj)). NPV > Proj Slot(ProjIndex(maxNPVProj)). NPV Then

maxNPVProj = iProj
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Next
advice ="1. Tnsamsfifiyamilegtugns avev) Infigaie ‘TS9N & ProjSlot(Projindex
(maxNPVProj)).ProjName & "" & vbCrLf & "iag"
End If
TagUuuuHadns IHMINEaURUNMSUEAY Collect result - - - - == =~ - << - <<= eee oo
advice = advice & "Lﬁzmmﬂﬂﬁ NPV 19 " & ProjSlot(ProjIndex(maxNPVProj)).NPV
If ProjSlot(ProjIndex(maxNPVProj)). NPV > 0 Then
advice = advice & " FI1NNT 0" & vbCILE & "ﬁ’aifuﬂm%"amsamu“luimqmiﬁy"
Elself ProjSlot(ProjIndex(maxNPVProj)).NPV < 0 Then
advice = advice & " $91100n91 0" & vbCrLE & "FarhunaideIunasasyuluTasensii
Else 'NPV=0
advice = advice & " fauRuezaUNID " & bOILE& “uegiuulouie"
End If
advice = advice & vbCrLf

Y

If optOutputType(0). Value Then '°1uﬂiiﬁ“7i;j°lm:m NPV m@ﬂmmnﬂ%qﬁ'mﬁﬂfu if user
select one proj, use following process
Dim numbering As Integer
numbering = 1
If Check1(0).Value = 0 Then
advice =""
numbering = 0
End If
If Check1(1).Value Or Check1(2).Value Then
Dim ans
Do
ans = InputBox("ﬂqmwﬂauﬁ1mu?Jsﬁa°l°ffﬁ1mm AW %58 FW", "i’faymﬁmﬁu", "0")
nFWAW = Int(Val(ans))
Loop While nNFWAW <=0 And ans <>""

If ans = "" Then Exit Sub
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End If

i)

If Check1(1).Value Then 'nI@INA1¥A09n1511871 AW 28

Dim AW As Double
numbering = numbering + 1
If Interest <> 0 Then
AW = ProjSlot(ProjIndex(maxNPVProj)).NPV * (Interest * (1 + Interest) » nFWAW) / ((1 +
Interest) » nFWAW - 1)
Else
AW = ProjSlot(ProjIindex(maxNPVPro0j)). NPV / nFWAW
End If
advice = advice & numbering & ". AAW AD " & Round(AW, 2) & vbCrLf{
End If
If Check1(2).Value Then' ns@ififlddoamsma1 Fw fau
Dim FW As Double
numbering = numbering + 1
FW = ProjSlot(Projindex(maxNPVProj)). NPV * (1 + Interest) * nFWAW
advice = advice & numbering & ". MEW AB " & Round(FW, 2) & vbCrLf
End If
End If

txtOutput.Caption = advice

If optOutputType(0). Value = False Then 'nsdiilSsuiionvaty Insams azuaraqInTamsna
HUA  mean user compare NPV of all projects so display NPV table

frmReportMultiNpv.Show
Elself optCalType(1).Value Then 'nsgimunsiuuiiu ldnasini zuERIMS TN TRy
an.AnFous I, MT nszuaiiuaandainmd  display ATCF table

frmDispATCFTable.Show
End If
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End Sub

Sub PrepareCashFlow Table4PB(ByVal ProjID, ByVal Interest As Double, ByRef ATCFTable)
Dim NPV As Double, Depre As Double

Dim factor As Double, PV As Double

Dim nLoop As Integer

Dim i

Dim BTCF As Double, Ti As Double, IncomeTax As Double, ATCF As Double

'ﬁmuﬂﬁwﬁ'uﬁu‘lﬁ NPV=0 Init pre-calculation value
NPV =0
'z?'uﬁmam HINPV calculate NPV - - == s = e e o oo m e
If isSoldAsset And optCalType(1).Value Then
nLoop = SoldYear
Else
nLoop = ProjSlot(ProjIndex(ProjID)).YearCalculate
End If
ReDim ATCFTable(nLoop)

'a$19IM15 19 M SVUAAINAENT Decorate FG2's header
FG2.Clear
Call DecorateFG2
For i=0 To nLoop
factor = (1 + Interest) A i 'factor Aagaii 19 113aum1 NPV 11T (period) Yaqiit factor is

used to calculate NPV

If optCalType(1).Value Then Juns ﬂﬁﬁwmmzmm‘iu"lﬁwﬁaﬁ' nAE (After-Tax Cash Flow)
Cal ATCF----=----c---omcmmmmmmo o -
If UBound(D2Array, 1) >=i Then
Depre = D2Array(i)

Else
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Depre =0
End If
BTCF = ProjSlot(ProjIndex(ProjID)).Net(i)
Ti=BTCF - Depre
IncomeTax = -Ti * tax
ATCF = BTCF + IncomeTax
1fi=0Then luilusniioiufuasmyu szdalifnmsfminms  dont calculate tax in first
year
Ti=0
IncomeTax =0
ATCF = BTCF
End If
PV = ATCF / factor
NPV =NPV + PV
If optOutputType(0). Value Then Humadnsaslu FG2  store current data in FG2
FG2.Row=i+1
FG2.Col = 1: FG2.Text = BTCF
FG2.Col = 2: FG2.Text = Depre
FG2.Col =3: FG2.Text =Ti
FG2.Col = 4: FG2.Text = IncomeTax
FG2.Col =5: FG2.Text = ATCF
End If
Else ‘lunsdifiiusiuuuiuléneurnnts (Before-Tax Cash Flow) cal BTCE - - <« - - - - -
ATCEF = ProjSlot(ProjIndex(ProjID)).Net(i)
PV = ATCF / factor
NPV = NPV + PV
End If
ATCFTable(i) = ATCF

Next
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Tunsdifinsnoduning Wdliinedunsnd Ggatho) wwuanstoyaifiodty yariveld
(Market Value,MV), Book Value % nazduq
If optCalType(1).Value And isSoldAsset Then 'TUns@IAMIMNBIUY ATCF asimsane i
NING V2UAAITOYACAl ATCF - - - - ===~ <o oo

Dim BTCF2 As Double, Ti2 As Double, IncomeTax2 As Double, ATCF2 As Double

BTCF2 =MV

Ti2 = TlinCaseOfSoldAsset

IncomeTax2 = -TlinCaseOfSoldAsset * tax

ATCF2 = BTCF2 + IncomeTax2

FG2.Rows =nlLoop + 3

FG2.Row=1i+1

FG2.Col=0: FG2.Text=1-1

FG2.Col = 1: FG2.Text = BTCF2

FG2.Col =2: FG2.Text =0 'Auifonsion

FG2.Col = 3: FG2.Text = Ti2 'vonidu 187 oz 19duanid

FG2.Col = 4: FG2.Text = IncomeTax2

FG2.Col = 5: FG2.Text = ATCF2

PV = ATCF2 / factor

NPV = NPV + PV

ATCFTable(i - 1) = ATCFTable(i - 1) + ATCF2
End If
End Sub 'PrepareCashFlowTable4PB

Private Sub btnCalPB_Click()

Dim ATCFTable() As Double

ReDim IncomeArray(FG1.Rows - 1)

Dim i, foundZero As Integer

Dim Net As Double, Interest As Double, Depre As Double
Dim netStat() As Double

Dim stat As String
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ReDim netStat(MaxYear)

1

If optCalType(1).Value And (Not calculatedDepre) Then

If (vbYes = MsgBox("Toya hiifisanafiozdmin & voCrLt & "ilesningaudondimon
upy @ léndninnl (ATCH)™ & vbCrLt & "uagaisiali Idnsendeyaifieaty Audeusiar
& vbCrLf & vbCrLf & "AuADINTS ﬂieﬂiﬁ'ﬂy‘adwaﬁ@mmm?a"lﬁ " vbYesNo, "fUADU")) Then

cmdDepreciation_Click

End If

Exit Sub
End If

tax = Val(txtTax.Text) / 100

Interest = (Val(txtInt. Text) + Val(txtInfla. Text) + Val(txtInt. Text) * Val(txtInfla.Text)) / 100

1

PrepareCashFlowTable4PB Curlndex, Interest, ATCFTable FUIUNINTSUFIUER calculate

Cash Flow

i=0
Net = ATCFTable(i) 'NsguaQque ﬂ‘lu‘i’va’i 0 Net of zero year
If Net > 0 Then "m1n Wil 0 Suasnuinnnd 0 ez it wnam pB w1z hilodnumezveslase
N1TONNYU  cannot calculate with this model

MsgBox "nsfmsiszoziaatiugy ifdunlddmsuTasamsfilaiifasue, vbInformation
+ vbOKOnly, "Atug 11"

Exit Sub
End If

netStat(i) = Net
stat = vbCrLf
Do

i=1i+1

Net = Net * (1 + Interest) + ATCFTable(i)
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netStat(i) = Net
stat=stat &1 & " : " & Net & vbCrLf
Loop While i <= UBound(ATCFTable, 1) - 1 And Net <0

1

Interpolate PB
If Net >= 0 Then
Dim PB As Double, NPV1 As Double, NPV2 As Double
NPV1 =netStat(i - 1): NPV2 = netStat(j)
If NPV1 =0 Then
PB=i-1
Elself NPV2 = 0 Then
PB =i
Else
PB = Round(1 / (NPV2 -NPV1) * -NPVD) +i-1,2)
End If
r=3 e
txtOutput = "38LINAUNUYTZNIY " & PB & " 1"
Else
9 A d’l 7= &
txtOutput = "N nvoyainil Tasemsit ullssoznanuyu

End If
End Sub

Private Sub cboProj_Click(}
Bl3iaouTnsans
If LastIndex > 0 Then
Curlndex = cboProj.ListIndex + 1
updateFG
End If
End Sub

Private Sub cmdBackToMenu_Click()

Unload Me
End Sub
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Sub updateNet()
On Error GoTo ErrMsg
Dim income As Double, outcome As Double, Net As Double
Dim x As Integer, curYear As Integer
x =FG1.Col
curYear = FG1.Row - 1
FG1.Col=1
income = Val("0" & FG1.Text)
FG1.Col=2
outcome = Val("0" & FG1.Text)
FG1.Col=3
Net = income - outcome
FG1.Text = IIf(Net =0, ", Net)
FG1.Col=x

ProjSlot(ProjIndex(Curlndex)).income(curYear) = income
ProjSlot(ProjIndex(Curlndex)).outcome(curYear) = outcome
ProjSlot(ProjIndex(Curlndex)).Net(curYear) = Net

Exit Sub

ErrMsg:
'MsgBox "frmNPV.updateNet : " & Err.Description, vbInformation + vbOKOnly, " iNadeia
Waa"

End Sub

Private Sub cmdCalculate_Click()

Dim i As Integer, userSelected As Integer
i=0

userSelected = -1

Do
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If optOutputType(i). Value Then userSelected = i
i=1+1

Loop While (i < optOutputType.Count And userSelected = -1)

Screen.MousePointer = vbHourGlass
Select Case userSelected 'éjnl‘fflsgllm MIATUIUNIA...
Case 0: btnCalNPV_Click 'fTU94%1 NPV v04 a3 Qﬂ]iﬂ%i}ﬁu cal current project NPV
Case 1: btnCallRR_Click '8 NPV ¥831a54m3ilagiiu  cal IRR
Case 2: btnCalPB_Click ' 13411 NPV v041a59msiagiu  cal PB
Case 3: btnCaINPV_Click 'A1HI98I%1 NPV meﬂﬂiamsﬁwm cal all project NPV
End Select
Screen.MousePointer = vbNormal

End Sub

Private Sub cmdNewProj_Click()
ProjMode = "new"

frmProj.Show

End Sub

Private Sub cmdDelProj_Click()

Dim i As Lateger

v
If vbNo = MsgBox("aidaemsau InsamsiilanTe lu", vbYesNo, "8u8un15au") Then Exit

Sub

'a‘lj‘?;ﬂiﬂﬂmiﬂ’e)ﬂ%m "ﬂﬂﬂﬁllﬂﬂﬁ%’eﬂﬂﬂﬂﬁ" Remove project name from combo
cboProj.Removeltem (Curlndex - 1)
'Hivua "1 “lﬁ’Tﬂsqms‘ﬁgnau Free the slot that this project is using
For i = 0 To ProjSlot(Projindex(Curlndex)).ProjYear
ProjSlot(Projindex(Curlndex)).income(i) = 0
Proj Slot(ProjIndex(CurIndex)).outcome(i) =0
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ProjSlot(ProjIndex(Curlndex)).Net(i) = 0
Next
ProjSlot(ProjIndex(Curlndex)).Flag = 0
ProjSlot(ProjIndex(Curlndex)).ProjYear = 0
ProjSlot(ProjIndex(Curlndex)).YearCalculate = 0
ProjSlot(ProjIndex(Curlndex)).ProjName = ""
wnuit InsemsfignaudaeTasamsdaly unuii Tnsams Taumsunuieaindex) Replace
this index by next project index
If Curlndex < LastIndex Then

For i = Curlndex To LastIndex - 1

ProjIndex(i) = ProjIndex(i + 1)

Next
Else

Curlndex = LastIndex - 1
End If
ProjIndex(LastIndex) = 0
LastIndex = LastIndex - 1
ProjMode = "change"
Form_Activate

End Sub

Private Sub emdDepreciation_Click()
frmDepre2.Show
End Sub

Private Sub FG1_MouseDown(Button As Integer, Shift As Integer, x As Single, y As Single)

Dim yCriteria As Double, xCriteria As Double

Dim Col As Double, Row As Double

yCriteria = -120: xCriteria = -120 euATiMMUAT 9T INIDSAaaNAN cell Auntiu'ld

is criteria pixel. If user move mouse pointer to this criteria, it will change to + sign. Or is the default

pointer in case of mouse pointer be out of criteria or match only one criteria.
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If FG1.Cols = 0 Then Exit Sub
Col=x:Row=y
CopyFlag = IdentifyMouseInCriteria(FG1, Col, xCriteria, Row, yCriteria)
If Not (Col = 1 Or Col = 2) Or Row = 0 Then CopyFlag = False
If CopyFlag Then
Clipboard = FG1.Text
End If
End Sub

Sub Sort(ByRef a, ByRef b)
Dim temp
Ifa>b Then
temp =a
a=b
b =temp
End If
End Sub
dauves Tsunsuiils 14 14d
Private Sub aFG1_MouseUp(Button As Integer, Shift As Integer, x As Double, y As Double)
Dim yCriteria As Double, xCriteria As Double
Dim Col As Double, Row As Double
yCriteria = -10000: xCriteria = ~10000 BUIATIMTUATINZE NI 0RAaBNA19IN cell Auntiy
18 is criteria pixel. If user move mouse pointer to this criteria, it will change to + sign. Or is the

default pointer in case of mouse pointer be out of criteria or match only one criteria.

If FG1.Cols = 0 Or Clipboard = "" Then Exit Sub
Col=x:Row=y
ColUp = Col: RowUp = Row

WIRBEUA HD) 1ATATINTOVIUTINGMIAnannw5e 11 Identify what col and row that mouse

up and allow copy token

frmNpv.frm



84

CopyFlag = IdentifyMouseInCriteria(FG1, Col, xCriteria, Row, yCriteria)
asnaeuhiiumsdasenlunedusidofunio i mszezeyyalidaaen 8 lunsdfidiu
ADAUSAUINY Check is copying in same column
If CopyFlag And Col = ColDown Then
’Léuﬁ’ﬂaﬂﬂ Do copy
Dim i As Integer
Sort RowDown, Row
FG1.Col =Col
For i = RowDown To Row
FGl.Row =i
FG1.Text = Clipboard
Call updateNet
Next
End If
Clipboard =""
End Sub

Function IdentifyMouselInCriteria(ByVal FG As Object, ByRef x As Double, ByVal xCriteria As
Integer, ByRef y As Double, ByVal yCriteria As Integer) As Boolean

Dim i As Integer

If FG1.Cols = 0 Then Exit Function
AUMINDSUARLNMINARNG  Find what column that mouse down
i=-1 |
Do
1i=i+1
x =x - FG.ColWidth(i)
Loop Until x <=0 Ori>=FG.Cols - i ’WUﬂﬂﬁMﬁﬁﬁﬂﬁﬂﬂﬂﬂﬁ mean mouse is down in this
column
as1vaeuinand luveuwaiivafanmsannenviels  Check mouse down in criteria or not

If x >= xCriteria And i < FG.Cols And x <= 0 Then
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x = 1: IdentifyMouselnCriteria = True

Elself i < FG.Cols And x <=0 Then

End If
If Fix(y / FG.RowHeight(0)) <= FG.Rows Then
Dim Row As Integer, GuessRow As Double
GuessRow =y / FG.RowHeight(0)
Row = [If(GuessRow > Fix(GuessRow), Fix(GuessRow) + 1, Fix(GuessRow))
If y - (Row * FG.RowHeight(0)) >= yCriteria Then
y=Row-1
Else
y = Row - 1: IdentifyMouseInCriteria = False
End If
Else
y = -1: IdentifyMouseInCriteria = False
End If

End Function

Private Sub FG1_MouseMove(Button As Integer, Shift As Integer, x As Single, y As Single)

Dim CopyFlag2 As Boolean

Dim yCriteria As Double, xCriteria As Double

Dim Col As Double, Row As Double

yCriteria = -120: xCriteria = -120 WouARfruAI Nz asaRaaenaA19In cell Auntiuld
is criteria pixel. If user move mouse pointer to this criteria, it will change to + sign. Or is the default

pointer in case of mouse pointer be out of criteria or match only one criteria.
If FG1.Cols = 0 Then Exit Sub

Col=x:Row=y
CopyFlag2 = IdentifyMouselnCriteria(FG1, Col, xCriteria, Row, yCriteria)
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If Not (Col =1 Or Col = 2) Or Row = 0 Then CopyFlag2 = False
If CopyFlag2 Then 'mﬂﬁﬁyﬂlmmwﬁagﬂum@ummﬁ%zﬁﬂaaﬂ"lfv’f waldoudsundidhunies
N +
FG1.MousePointer = flexCross
Else
FG1.MousePointer = flexArrow
End If
End Sub

Private Sub fgl_Keyup(KeyCode As Integer, Shift As Integer)
Dim zero As Integer
zero = Asc("0")
If (KeyCode >= 48 And KeyCode <= 57) Or (KeyCode >= 96 And KeyCode <= 105) Or
KeyCode = DotKey Or KeyCode = BSKey Or KeyCode = DELKey Or EnterKey) And Shift =0
Then
If KeyCode >= 96 And KeyCode <= 105 Then
FG1.Text = Val(FG1.Text & Chr(KeyCode - 96 + 48))
Elself KeyCode >= 48 And KeyCode <= 57 Then
FG1.Text = Val(FG1.Text & Chr(KeyCode))
Else
Select Case KeyCode
Case DotKey: FG1.Text =FGl.Text & "."
Case BSKey
If Len(FG1.Text) > 1 Then
FG1.Text = Left(FG1.Text, Len(FG1.Text) - 1)
Else
FG1.Text=""
End If
Case DELKey
FG1.Text=""

Dim x1 As Integer, x2 As Integer, y1 As Integer, y2 As Integer
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x1 = ColDown: x2 = ColUp
yl =RowDown: y2 = RowUp

Sort x1, x2: Sort y1, y2

Case EnterKey
FG1.Col =(FG1.ColMod 2) + 1

If (FG1.Col = 1) And (FG1.Row < FG1.Rows - 1) Then

FG1.Row = FG1.Row + 1
End If

End Select

End If '(KeyCode >= Asc("0") And KeyCode <= Asc("9")

updateNet
End If
End Sub
Sub updateFG()
initFGHeader
showDatalnFG
End Sub
Sub initFGHeader()

Dim i As Integer

b
daued Tsunsuil 1493199991519 Decorate FG1's header

FG1.Visible = False

If LastIndex < 1 Then
FG1.Rows =0
Exit Sub

End If

FG1.Clear

FG1.Rows = ProjSlot(Projlndex(Curlndex)).ProjYear + 2
FG1.Cols=4

FG1.FixedCols = 1: FG1.FixedRows = 1
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a$19%7815719 FG1 Column header
FG1.Row = 0: FG1.Col =0
FG1.Text = stTime
FG1.ColWidth(0) = 500
FG1.Col = 1: FG1.Text = "51031"
FG1.Col = 2: FG1.Text = "518919"
FG1.Col = 3: FG1.Text = "5165ugqn3"
'ﬁ%’lx‘iﬁﬁlﬂﬁ (1,2,3,...) FG1 Row header
FG1.Col=0
Fori=1ToFGl.Rows-1
FGl.Row=1
FGL.Text=i-1
Next
FG1.Col=1
FG1.Row =1

FG1.Visible = True

a$19%0159191% FG2  Decorate FG2's header
Call DecorateFG2

End Sub

Sub DecorateFG2()

Dim i

FG2.Visible = False

FG2.Clear

FG2.Rows = FG1.Rows

FG2.Cols =6

" %} WHIANS Nclﬁj FG2 Decorate FG2's header

FG2.Row=0

FG2.Col=0
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FG2.Text = stTime
FG2.Col=1
FG2.Text="BTCF"
FG2.Col=2
FG2.Text = "Depreciation”
FG2.Col=3
FG2.Text = "Taxable Income"
FG2.Col=4
FG2.Text = "Income Tax"
FG2.Col =5
FG2.Text="ATCF"

ad19§18U7 (1,23, ...) FG2 Row header

FG2.Col=0

Fori=1 To FG2.Rows - 1
FG2.Row =1
F’G2.Text =i-1

Next

FG2.Col=1

FG2.Row =1

FG2.Visible = True

End Sub

Sub showDatalnFG()

Dim yr As Integer, column As Integer

FG1.Visible = False

If ProjSlot(ProjIndex(Curlndex)).ProjYear < 1 Then
FG1.Visible = True
Exit Sub

End If

For yr = 0 To ProjSlot(ProjIndex(Curlndex)). ProjYear

FG1.Row=yr+1

frmNpv.frm



90

FG1.Col=1: FGl.Text= IIf(ProjSlot(ProjIndex(CurIndex)),income(yr) =0, ", ProjSlot
(ProjIndex(Curlndex)).income(yr))

FG1.Col=2: FGI1.Text= IIf(ProjSlot(ProjIndex(CurIndex)).outcome(yr) =0, "", ProjSlot
(ProjIndex(Curlndex)).outcome(yr))

FG1.Col=3: FG1.Text = IIf(Proj Slot(ProjIndex(Curlndex)).Net(yr) = 0, "", ProjSlot(ProjIndex
(Curlndex)).Net(yr))
Next 'yr
FG1.Visible = True
End Sub

Private Sub FG1_SelChange()
Dim Col As Integer, Row As Integer, SCol As Integer, SRow As Integer
Col = FG1.Col: Row = FG1.Row: SCol = FG1.ColSel: SRow = FG1.RowSel
If Col = SCol And CopyFlag And (Col =1 Or Col = 2) Then
Sort Row, SRow
Dim i As Integer
FG1.Col = Col
For i = Row To SRow
FGl.Row =1
FG1.Text = Clipboard
Call updateNet
Next
End If
Clipboard = ""
End Sub

Private Sub FG2_DbIClick()

Picturel.Visible = False

End Sub

Private Sub FG2_MouseDown(Button As Integer, Shift As Integer, x As Single, y As Single)
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Screen.MousePointer = 8

want2Move = True

curX =x:curY =y

End Sub

Private Sub FG2_MouseUp(Button As Integer, Shift As Integer, x As Single, y As Single)
Screen.MousePointer = 4

want2Move = False

End Sub

Private Sub FG2_MouseMove(Button As Integer, Shift As Integer, x As Single, y As Single)
If want2Move Then
Picturel.Move Picturel.Left + (x - curX), Picturel.Top + (y - curY)
curX =x: curY =y
End If
End Sub

Public Sub Form_Activate()

If LastIndex = 0 Then
FG1.Enabled = False
cmdDelProj.Enabled = False
cmdDepreciation.Enabled = False
cboProj.Clear
FGl.Clear
FG1.Rows=0

Else
FG1.Enabled = True
cmdDelProj.Enabled = True
cmdDepreciation.Enabled = True

End If

If ProjMode = "justloadform" And LastIndex > 0 Then

frmNpv.frm



92

Dim i As Integer
cboProj.Clear
Fori=1 To LastIndex _
cboProj. AddItem (ProjSlot(ProjIndex(i)).ProjName)
Next
ProjMode = "change"
End If

If ProjMode = "change" Then
ProjMode =""
If Curlndex > LastIindex Then Curlndex = LastIndex
If Curindex > 0 Then
cboProj.Text = cboProj.List(CurIndex - 1)
Else
cboProj.Clear
End If
updateFG
End If
End Sub

Private Sub Form Load()
Me.Top = 0: Me.Left=0
ProjMode = "justloadform"

Clipboard = ""

txtInt. Text = intTemp
txtInfla. Text = infraTemp
txtTax. Text = taxTemp

End Sub

Private Sub Form_Resize()

frmNpv.frm
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If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me. Width = 8865
Me.Height = 7005

End If

End Sub

Private Sub Form_Unload(Cancel As Integer)
calculatedDepre = False

intTemp = txtInt. Text

infraTemp = txtInfla. Text

taxTemp = txtTax.Text

End Sub

Private Sub Labell_Click()
FG1.Col=1

FG1.Row = 1: FG1.Text =0
FG1.Row = 2: FG1.Text = 3000
FG1.Row = 3: FG1.Text = 2000

FG1.Col=2

FG1.Row = 1: FG1.Text = 4000
FG1.Row =2: FG1.Text=0
FG1.Row =3: FG1.Text=0

FG1.Col=3

FG1.Row = 1: FG1.Text = -4000
FG1.Row = 2: FG1.Text = 3000

FG1.Row = 3: FG1.Text = 2000

End Sub

Private Sub optCalType_Click(Index As Integer)

frmNpv.frm



If Index =1 Then
txtTax.Enabled = True
Else
txtTax.Enabled = False
End If
End Sub
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ulas : frmReportMultiNpv.frm

i : uaraayaregiugns (NPY) v9annlnsens
Form :

ﬂ NPY uanwiazinsans

A e o ST R Rl Bad

Source Code :
VERSION 5.00
Object = "{SE9E78A0-531B-11CF-91F6-C2863C385E30}#1.0#0"; "MSFLXGRD.OCX"
Begin VB.Form frmReportMultiNpv
Caption = "NPV ¥94laaz laganis"
ClientHeight = 3210
ClientLeft = 60
ClientTop = 345
ClientWidth = 4095

Icon = "frmReportMultiNpv.frx":0000
LinkTopic = "Forml"
MaxButton = 0 'False
MDIChild = -1 "True

ScaleHeight = 3210



ScaleWidth = 4095
Begin VB.CommandButton btnOK

Caption = "anay"
Default = -1 "True
Height = 375
Left = 2760
TabIndex =1
Top = 2760
Width = 1215
End

Begin MSFlexGridLib.MSFlexGrid FG1

Height = 2535
Left = 120
TabIndex =0
Top = 120
Width = 3855
_ExtentX = 6800
_ExtentY = 4471
_Version = 393216

AllowBigSelection= 0 'False
AllowUserResizing= 3
End
End
Attribute VB_Name = "frmReportMultiNpv"
Attribute VB_GlobalNameSpace = False
Attribute VB_Creatable = False
Attribute VB_Predeclaredld = True
Attribute VB_Exposed = False
Option Explicit
Dim nProj As Integer

Dim sortType As Integer

frmReportMultiNpv.frm
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Private Sub btnOK_Click()
Unload Me
End Sub

Private Sub FG1_Click()
sort;l‘ype = (sortType Mod 2) + 1
FG1.Sort = sortType

End Sub

Private Sub Form_Load()

sortType =2

initFGHeader

End Sub

Sub initFGHeader()

431901519 Decorate FG1's header
FG1.Visible = False

FG1.Clear

FG1.Rows = LastIndex + 1

FG1.Cols =3

'#§79%271579 Column header
FG1.ColWidth(0) =0

FG1.Row =0

FG1.Col = 1

FG1.Text =" 1A54Ms"
FG1.Col=2

FG1.Text=" NPV"

w3198 (12,3,..)  Row header
Dim iProj As Integer

For iProj = 1 To LastIndex

frmReportMultiNpv.frm
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FG1.Row = iProj
FG1.Col=1: FGl.Text="" & ProjSlot(ProjIndex(iProj)).ProjName
FG1.Col = 2: FG1.Text = Round(Proj Slot(ProjIndex(iProj)).NPV)
Next
FG1.Col=2
FG1.Row =1
FG1.Visible = True
FG1.Sort = sortType
End Sub

Private Sub Form_Resize()

If Me.Width < constMinWidth And Me.Height <> constMinHeight Then
Me.Width = 4215
Me.Height = 3615

End If

End Sub
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Source Code :
VERSION 5.00
Object = "{5E9E78A0-531B-11CF-91F6-C2863C385E30}#1.0#0"; "MSFLXGRD.OCX"
Begin VB.Form frmDeprel
Caption = "suffousin”
ClientHeight = 5280
Clientleft = 60
ClientTop = = 343
ClientWidth = 7050

Icon = "frmDeprel.frx":0000
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LinkTopic = "Forml"
MaxButton = 0 'False
MDIChild = -1 'True
ScaleHeight = 5280
ScaleWidth = 7050
Begin VB.Frame Frame2
Caption = "S3damaudeusia”
Height = 2655
Left = 120
TabIndex = 13
Top = 2520
Width = 3495
Begin VB.OptionButton optMethod
Caption = "Straight-Line (uuiduas9)"
Height = 210
Index =0
Left = 120
TabIndex = 28
Top = 360
Value = -1 "True
Width = 2295
End
Begin VB.OptionButton optMethod
Caption = "Declining Balance (LL‘IJUaﬂ?f"Ju)"
Height = 210
Index =1
Left = 120
TabIndex = 27
Top = 1320
Width = 2775
End
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101

Begin VB.OptionButton optMethod
= "MACRS-GDS (52UUMIAUNUUULISI)"

Caption =
Height = 195
Index =3
Left = 120
Tablndex = 26
Top = 1800
Width = 3135
End

Begin VB.OptionButton optMethod
= “Sum of Year Digit (HUVUINAAAYV)"

Caption =
Height = 210
Index = 2
Left = 120
TablIndex = 25
Top = 840
Width = 2895
End

Begin VB.OptionButton optMethod
= "MACRS-ADS (32UUMSAUYUHUULITY"

Caption
Height = 195

Index = 4

Left = 120
TablIndex = 24

Top = 2280
Width = 3135

End

End

Begin VB.CommandButton cmdCalculate
Caption = "Au"
Default = -1 '"True

frmDepre1.frm



Height = 375
Left = 3720
Tablndex =35
Top = 4800
Width = 1695
End
Begin VB.Frame Framel
Caption = "fudmsudousian”
Height = 2175
Left = 120
Tablndex = 1
Top = 120
Width = 3495

Begin VB.ComboBox cboPeriod

Height = 315

ItemData = "frmDeprel.frx":0442
Left = 1800

List = "frmDeprel.frx":0444
TabIndex = 23

Text = "Combol"

Top = 960

Visible = ( 'False

Width = 615
End

Begin VB.TextBox txtPercent

Enabled = 0 'False
Height = 285
Left = 1320
TablIndex = 21
Text = "200"
Top = 1800

frmDepre1.frm
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Width = 495
End

Begin VB.OptionButton optPeriod

Caption = "hou"
Height = 195
Index =

Left = 3480
TabIndex = 18
Top = 600
Visible = 0 'False
Width = 735
End

Begin VB.OptionButton optPeriod

Caption = "lasuna"
Height = 195
Index =1

Left = 3480
TabIndex = 17

Top = 960
Visible = ( 'False
Width = 855

End

Begin VB.OptionButton optPeriod
Caption = "
Height = 195
Index = 2

Left = 3480
Tablndex = 16
Top = 1320
Visible = ( 'False
Width = 495

frmDepre1.frm
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End

Begin VB.OptionButton optPeriod

Caption = "5'13“]"
Height = 195
Index =3

Left = 3480
TabIndex = 15
Top = 1650
Visible = (0 'False
Width = 615
End

Begin VB.TextBox txtOther

Height = 285
Left = 4200
TabIndex = 14
Top = 1650
Visible = 0 'False
Width = 735
End

Begin VB.TextBox txtPeriod

Height = 315
Left = 1800
TabIndex =3
Top = 840
Width = 615
End

Begin VB.TextBox txtBasis

Height = 285
Left = 1200
TabIndex =0
Top = 360

frmDepre1.frm
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Width = 855
End

Begin VB.TextBox txtSalvage

Height = 285
Left = 960
TabIndex = 2
Top = 1320
Width = 975
End
Begin VB.Label Label8
AutoSize = -1 "True
Caption = "op"
Enabled = (0 'False
Height = 210
Left = 1920
TabIndex = 22
Top = 1800
Width = 120
End
Begin VB.Label Label7
AutoSize = -1 '"True
Caption = "Zovazmsiden”
Enabled = (0 'False
Height = 210
Left = 120
TablIndex = 20
Top = 1800
Width = 1080
End

Begin VB.Label Label4

AutoSize = -1 '"True
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Caption = "Wilona"

Height = 210
Left = 3480
Tablndex = 19
Top = 240
Visible = 0 'False
Width = 750
End
Begin VB.Label Label2
AutoSize = -1 '"True
Caption = "
Height = 195
Left = 2040
Tablndex = 12
Top = 1350
Width = 285
End
Begin VB.Label Label5
AutoSize = -1 '"True
Caption = "syeznaRanIdon”
Height = 210
Left = 120
TablIndex = 11
Top = 870
Width = 1425
End

Begin VB.Label IblPeriod

AutoSize = -1 "True
Caption = "Period"
Height = 195
Left = 2640

frmDepre1.frm
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Tablndex = 10
Top = 870
Width = 450
End
Begin VB.Label Label3
AutoSize = -1 "True
Caption = "wamSudu"
Height = 210
Left = 120
TabIndex =9
Top = 390
Width = 870
End
Begin VB.Label label6
AutoSize = -1 True
Caption = "Ym"
Height = 195
Left = 2160
TabIndex = 8
Top = 390
Width = 285
End
Begin VB.Label Labell
AutoSize = -1 '"True
Caption = "yafn"
Height = 210
Left = 120
TablIndex =7
Top = 1350
Width = 660
End

frmDeprel.frm
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End

Begin VB.CommandButton cmdBackToMenu

Caption = "ga@n"
Height = 375
Left = 5520
TabIndex = 6

Top = 4800
Width = 1455
End

Begin MSFlexGridLib.MSFlexGrid fgl

Height = 4455
Left = 3720
TabIndex = 4
Top = 240
Width = 3255
_ExtentX = 5741
_ExtentY = 7858
_Version = 393216

AllowBigSelection= 0 'False
AllowUserResizing= 3
BeginProperty Font {O0BE35203-8F91-11CE-9DE3-00AA004BB851}

Name = "MS Sans Serit"
Size = 9.75

Charset = 222

Weight = 400

Underline = 0 'False
Ttalic = (0 'False

Strikethrough = 0 'False
EndProperty

End

End

frmDepre1.frm
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Attribute VB_Name = "frmDeprel"

Attribute VB_GlobalNameSpace = False

Attribute VB_Creatable = False

Attribute VB_Predeclaredld = True

Attribute VB_Exposed = False

Option Explicit

Dimb, S As SingI;

Dim n, k As Integer

Dim RArray() As Single ' gaﬂ'wmmﬁa o éuﬂﬂﬂ Remain value array
'Dim DArray() As Single ' ﬂ'uﬁ' uIIMYBUIAaY Depreciation declare in Modules
Dim MACRSRate(1 To 6, 1 To 21) As Single

Private Sub cboPeriod Change()
txtPeriod. Text = cboPeriod.Text

End Sub

Private Sub Form_Load()

Call DecorateFgl

A MUATZIZAIMIMUINANTEN AU MACRS (GDS) 433114 6 99fie 3,5,7,10,15 uaz
20 init combo value
cboPeriod. Top = txtPeriod. Top
cboPeriod. AddItem ("3")
cboPeriod. AddItem ("'5")
cboPeriod.AddItem ("7")
cboPeriod.Addltem ("10")
cboPeriod. AddItem ("15")
cboPeriod. AddItem ("20")
cboPeriod. Text = "3"

Call initMACRSRate

End Sub

frmDepre1.frm
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Private Sub initMACRSRate()

'MACRSRate(n,x) : n=mJ1ULa‘llSSUZL’JE\”Iﬁm’Jmﬂ'WLf’?'E)lJi 1M1 number of recovery period  x=1J
year STIUNSURSBIMIIUNIAY (=) Fp Yovazvessudousim

MACRSRate(1, 1) =33.33

MACRSRate(1, 2) = 44.45

MACRSRate(1, 3) = 14.81

MACRSRate(1, 4) = 7.41

MACRSRate(2, 1) =20
MACRSRate(2, 2) =32
MACRSRate(2, 3) =19.2
MACRSRate(2, 4) = 11.52
MACRSRate(2, 5) = 11.52
MACRSRate(2, 6) =5.76

MACRSRate(3, 1) = 14.29
MACRSRate(3, 2) =24.49
MACRSRate(3, 3) =17.49
MACRSRate(3, 4) = 12.49
MACRSRate(3, 5) = 8.93
MACRSRate(3, 6) = 8.92
MACRSRate(3, 7) = 8.93
MACRSRate(3, 8) = 4.46

MACRSRate(4, 1) = 10
MACRSRate(4, 2) = 18
MACRSRate(4, 3) = 14.4
MACRSRate(4, 4) = 11.52
MACRSRate(4, 5) = 9.22
MACRSRate(4, 6) =7.37
MACRSRate(4, 7) = 6.55

frmDepre1.frm



MACRSRate(4, 8) = 6.55
MACRSRate(4, 9) = 6.55
MACRSRate(4, 10) = 6.55
MACRSRate(4, 11) = 3.28

MACRSRate(5, 1) =5
MACRSRate(5, 2)=9.5 |
MACRSRate(5, 3) =8.55
MACRSRate(5, 4)=7.7
MACRSRate(5, 5) = 6.93
MACRSRate(5, 6) = 6.23
MACRSRate(5, 7) = 5.9
MACRSRate(5, 8) =5.9
MACRSRate(5, 9) = 5.91
MACRSRate(5, 10) =5.9
MACRSRate(5, 11) =5.91
MACRSRate(5, 12) = 5.9
MACRSRate(5, 13) = 5.91
MACRSRate(5, 14) = 5.9
MACRSRate(5, 15) = 5.91
MACRSRate(5, 16) =2.95

MACRSRate(6, 1) =3.75
MACRSRate(6, 2) = 7.22
MACRSRate(6, 3) = 6.68
MACRSRate(6, 4) = 6.18
MACRSRate(6, 5) = 5.71
MACRSRate(6, 6) = 5.29
MACRSRate(6, 7) = 4.89
MACRSRate(6, 8) = 4.52
MACRSRate(6, 9) = 4.46
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MACRSRate(6, 10) = 4.46
MACRSRate(6, 11) = 4.46
MACRSRate(6, 12) = 4.46
MACRSRate(6, 13) = 4.46
MACRSRate(6, 14) = 4.46
MACRSRate(6, 15) = 4.46
MACRSRate(6, 16) = 4.46
MACRSRate(6, 17) = 4.46
MACRSRate(6, 18) = 4.46
MACRSRate(6, 19) = 4.46
MACRSRate(6, 20) = 4.46
MACRSRate(6, 21) =2.23
End Sub

Private Sub cmdBackToMenu_Click()
Unload Me

End Sub

Private Sub cmdCalculate_Click()
On Error GoTo ErrMessage

Dim i As Integer

b = Val(txtBasis. Text)
S = Val(txtSalvage.Text)
If optMethod(3) Then ' ﬁm’sm@hné BUIINWVY MACRS (GDS) cal by MACRS method
n = Val(cboPeriod.Text) + 1
Else ' f‘hmmﬁm‘?’ommmuu@lmmum‘fqﬁwi@"lﬂf: 1duUnse, andIU, VINAAAY, MACRS
(ADS) cal by other method
n = Val(txtPeriod.Text)
End If
ReDim RArray(0 To n), DArray(0 To n)
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If optMethod(0) Then 'ﬁm’smﬂ'uﬁ PUSINWUY 1FUATY cal by Straight-Line method
Call calByStraightLineMethod

Elself optMethod(1) Then '?‘hmmﬂ'né BUTINMVY aAdIU cal by Declining Balance method
Call calByDecliningBalanceMethod

Elself optMethod(2) Then 'fTU2IMANTBNI AWMLY UINAIAY cal by Sum of Years Digit

method

Call calBySumofYearsDigitMethod
ElseIf optMethod(3) Then 'ﬁmamﬁm‘? AUIMMUY MACRS(GDS) cal by MACRS (GDS)
method

Call calByMACRSMethod
Elself optMethod(4) Then 'ﬁm’amﬂ'nﬁ' BUIMUUY MACRS(ADS) cal by MACRS (ADS)
method

n=n+1

ReDim RArray(0 To n), DArray(0 To n)

Call calByMACRSADSMethod
End If

UAAIHAANTOONGA1519 Display output

Call DecorateFgl

fgl.Rows=n+2
Fork=0Ton
fgl.Row=k +1
fgl.Col =0: fgl.Text=k
fg1.Col = 1: fgl.Text = Str(Round(RArray(k), 2))
fg1.Col = 2: fgl.Text = Str(Round(DArray(k), 2))
Next

Exit Sub

ErrMessage:
MsgBox Err.Description & " : liaans aﬁmam"ls?f", vbOKOnly, "§ufoU"
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End Sub

Private Sub fg1_Keyup(KeyCode As Integer, Shift As Integer)
Dim zero As Integer
zero = Asc("0")
If (KeyCode >= 48 And KeyCode <= 57) Or (KeyCode >= 96 And KeyCode <= 105) Or
KeyCode = BSKey Or KeyCode = DELKey Or EnterKey) And Shift = 0 Then
If KeyCode >= 96 And KeyCode <= 105 Then
fgl.Text = Str(Val(fgl.Text & Chr(KeyCode - 96 + 48)))
Elself KeyCode >= 48 And KeyCode <= 57 Then
fg1.Text = Str(Val(fgl.Text & Chr(KeyCode)))
Else
Select Case KeyCode
Case BSKey
If Len(fgl.Text) > 0 Then _
fgl.Text = Str(Val(Left(fg1.Text, Len(fgl.Text) - 1)))
End If
Case DELKey
fg1.Text = Str(Val("0"))
Case EnterKey
{g1.Col = (fg1.Col Mod 2) + 1
If (fg1.Col = 1) And (fgl.Row < fgl.Rows - 1) Then
fg1.Row = fgl.Row + 1
End If
End Select
End If '(KeyCode >= Asc("0") And KeyCode <= Asc("9")
updateNet
End If
End Sub

Sub DecorateFg1()
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Dim i

fgl. Rows =2

fgl.Cols =3
"d%’nﬁ'amiNﬁm%’Um?ﬂmmmwamsﬁmm Column header
fgl.Row =0

fgl.Col =0

optPeriod(2).Value = True
IblPeriod.Caption = optPeriod(2).Caption
fgl.Text = optPeriod(2).Caption
fg1.ColWidth(0) = 700

fgl.Col = 1

fgl.Text = "s 1A migFaouiioil
fgl.Col =2

fgl.Text = "AnFousin"

fgl.Col=1
fgl.Row =1
End Sub
Sub updateNet()
Dim income, outcome As Double
Dim cur As Integer
cur = fg1.Col
fg1.Col =1
income = Val(fgl.Text)
fgl.Col =2
outcome = Val(fgl.Text)
fg1.Col =3
fg1.Text = Str(income - outcome)
fgl.Col = cur
End Sub
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Private Sub Form_Resize()

If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me.Width = 7170
Me.Height = 5685

End If

End Sub

Private Sub optMethod Click(Index As Integer)
Label7.Enabled = False: Label8.Enabled = False: txtPercent.Enabled = False
Labell.Enabled = True: Label2.Enabled = True: txtSalvage.Enabled = True
txtPeriod. Visible = True: cboPeriod. Visible = False
If Index = 1 Then
Label7.Enabled = True: Label8.Enabled = True: txtPercent.Enabled = True
Blself Tndex = 3 Then ‘lunsdifisnaaiiuy MACRS(GDS) v Wieyanaldg1didenviedion
ATUI9AT User want to use MACRS (GDS) method
txtPeriod.Visible = False
cboPeriod. Visible = True
optPeriod(2).Value = True
Labell.Enabled = False: Label2.Enabled = False: txtSalvage.Enabled = False
Elself Index =4 Then ‘lunsdififnuaaiiuy MACRS(ADS) v lieyanalifididennietlon
AU9ATUser want to use MACRS (ADS) method
Labell.Enabled = False: Label2.Enabled = False: txtSalvage.Enabled = False
End If
End Sub

Private Sub optPeriod_Click(Index As Integer)
fgl.Col = 0: fgl.Row =0
If Index <> 3 Then
1blPeriod.Caption = optPeriod(Index).Caption
fgl.Text = optPeriod(Index).Caption
Else
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IblPeriod.Caption = txtOther
fgl.Text = txtOther

End If

End Sub

Private Sub txtOther Change()
fgl.Col =0: fgl.Row =0
optPeriod(3).Value = True
fgl.Text = txtOther

End Sub

Private Sub calByStraightLineMethod()
Dim depreciation As Single

Dim i As Integer

depreciation=(b-S)/n

DArray(0) =0
RArray(0)=b
Fori=1Ton
DArray(i) = depreciation
RArray(i) = RArray(i - 1) - DArray(i)
Next

End Sub
Private Sub calByDecliningBalanceMethod()
Dim R As Single

Dim i As Integer

R = (Val(txtPercent.Text) / n) / 100
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DArray(0) =0
RArray(0) =b
Fori=1Ton
DArray(i) = RArray(i- 1) *R
If RArray(i - 1) - DArray(i) >= S Then
RArray(i) = RArray(i - 1) - DArray(i)
Else
DArray(i) = RArray(i- 1) - S
RArray(i) = RArray(i - 1) - DArray(i)
End If
Next
End Sub
Private Sub calBySumofYearsDigitMethod()
Dim depreciation As Single
Dim SumYear As Single

Dim i As Integer

SumYear=n*(n+1)/2

DArray(0) =0

RArray(0) =b

Fori=1Ton
DArray(i) = ((n + 1 - i) / SumYear) * (b - S)
RArray(i) = RArray(i - 1) - DArray(i)

Next

End Sub

Private Sub calByMACRSMethod()

Dim i As Integer

Dim RateType As Integer

n = cboPeriod.Text
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'Ltﬂﬁ\‘liztJZL’)ﬁTﬁTH’Jmf’]‘TLﬁ'ﬂﬂi"lﬂWLLﬂ‘]J MACRS(GDS) h"nﬂizmmmazﬂmm convert
selected period with MACRS rate array

33 > Uszandi 1, 53 - dszanit 2, 7% > dszandi 3, 103 > Uszandt 4, 159 >
Uszinnii s, 203 > Usznnii 6

Select Case n

Case 3: RateType = 1

Case 5: RateType =2

Case 7: RateType =3

Case 10: RateType = 4

Case 15: RateType = 5

Case 20: RateType = 6

End Select

DArray(0) =0
RArray(0)=b
n=n+1 'Audeus ALY MACRS(GDS) szuanssidon wazyamaurdevesilganioday
Famevnaudousanlszinniu ﬁaﬁgu'fﬁaﬁaa;ﬁnﬁuﬁmﬁmﬁuﬁﬁafm'n bcoz MACRS
will show the last year value so require one more year
Fori=1Ton
DArray(i) = RArray(0) * MACRSRate(RateType, i) / 100
RArray(i) = RArray(i - 1) - DArray(i)
Next

End Sub

Private Sub calByMACRSADSMethod()
Dim depreciation As Single

Dim i As Integer

depreciation=b/(n-1)

DArray(0) =0
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RArray(0) =b
DArray(1) = Round(depreciation / 2)
RArray(1) =b - DArray(1)
Fori=2Ton~1

DArray(i) = depreciation

RArray(i) = RArray(i - 1) - DArray(i)
Next
DArray(n) = DArray(1)
RArray(n) = RArray(i - 1) - DArray(i)
End Sub
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Source Code :
VERSION 5.00
Object = "{SE9E78A0-531B-11CF-91F6-C2863C3 85E30}#1.0#0"; "MSFLXGRD.OCX"
Begin VB.Form frmDepre2
Caption = "AuFouTIAT
ClientHeight = 6720

ClientLeft = 60

ClientTop = 345
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ClientWidth = 7800

Icon = "frmDepre2.frx":0000
LinkTopic = "Form1"
MaxButton = 0 ‘False
MDIChild = -1 "True
ScaleHeight = 6720

ScaleWidth = 7800

Begin VB.Frame Frame?2
Caption = "SEduusudeusia
Height = 2655
Left = 120
Tablndex = 23
Top = 3960
Width = 3495
Begin VB.OptionButton optMethod

Caption = "MACRS-ADS (33UUMSAUYHULUIT)"
Height = 195

Index =4

Left = 120

TabIndex = 28

Top = 2280

Width = 3135

End

Begin VB.OptionButton optMethod
= "Sum of Year Digit (tUUUINAAAY)"

Caption =
Height = 210
Index = 2
Left = 120
TabIndex = 27
Top = 840
Width = 2895

frmDepre2.frm
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End
Begin VB.OptionButton optMethod

Caption =
Height = 195
Index =3
Left = 120
TablIndex = 26
Top = 1800
Width = 3135
End

Begin VB.OptionButton optMethod
= "Declining Balance (!L‘U‘Uaﬂﬁ"m)"

Caption =
Height = 210
Index = 1
Left = 120
TablIndex = 25
Top = 1320
Width = 2775
End

Begin VB.OptionButton optMethod
= "Straight-Line (LUDIFUATI)"

Caption =
Height = 210
Index =0
Left = 120
TabIndex = 24
Top = 360
Value = -1 'True
Width = 2295
End
End

Begin VB.CommandButton cmdOk

frmDepre2.frm

= "MACRS-GDS (S2UUMSAUNUUULII)"
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Caption = "gnay”
Height = 375
Left = 6240
TablIndex = 22
Top = 6240
Width = 1455
End

Begin VB.CommandButton cmdCalculate

Caption = "Muu"
Default = -1 '"True
Height = 375

Left = 4440
TabIndex = 5

Top = 6240
Width = 1695
End
Begin VB.Frame Framel
Caption = "funaaudeusia”
Height = 3615
Left = 120
TabIndex =1

Top = 120
Width = 3495

Begin VB.TextBox txtSoldYear

Height = 285
Left = 1680
TabIndex = 31
Top = 2640
Width = 855
End

Begin VB.TextBox txtMarketValue

frmDepre2.frm
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Height = 315
Left = 1680
TabIndex = 30
Top = 3120
Width = 855
End

Begin VB.CheckBox chkisSold

Caption = "gAUNSHE"
Height = 255

Left = 120

TablIndex = 29

Top = 2280

Width = 1335
End

Begin VB.ComboBox cboPeriod

Height = 315

ItemData = "frmDepre2.frx":0442
Left = 1800

List = "frmDepre2.frx":0444
TabIndex = 21

Text = "Combol"

Top = 960

Visible = 0 'False

Width = ?15
End

Begin VB.TextBox txtPercent

Enabled = ( 'False
Height = 285
Left = 1320
TabIndex = 19
Text = "200"

frmDepre2.frm
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Top = 1800
Width = 495
End

Begin VB.OptionButton optPeriod

Caption = "jAeu"
Height = 195
Index =0

Left = 3480
TablIndex = 16
Top = 600
Visible = 0 'False
Width = 735
End

Begin VB.OptionButton optPeriod

Caption = "lasura”
Height = 195
Index =1

Left = 3480
TabIndex =15

Top = 960
Visible = (0 'False
Width = 855

End

Begin VB.OptionButton optPeriod
Caption = q
Height = 195
Index = 2

Left = 3480
Tablndex = 14
Top = 1320
Visible = 0 'False

frmDepre2.frm
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Width = 495
End

Begin VB.OptionButton optPeriod

Caption = "Suq"
Height = 195
Index =3

Left = 3480
Tablndex = 13
Top =" 1650
Visible = 0 'False
Width = 615
End

Begin VB.TextBox txtOther

Height = 285
Left = 4200
TablIndex = 12
Top = 1650
Visible = 0 'False
Width = 735
End

Begin VB.TextBox txtPeriod

Height = 315
Left = 1800
TabIndex =3
Top = 840
Width = 615
End

Begin VB.TextBox txtBasis

Height = 285
Left = 1200
TabIndex =0

frmDepre2.frm
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Top = 360
Width = 855
End

Begin VB.TextBox txtSalvage

Height = 285
Left = 960
TabIndex = 2
Top = 1320
Width = 975
End
Begin VB.Label Label15
AutoSize = -1 "True
Caption = "TiweFunind:
Height = 195
Left = 360
TabIndex = 34
Top = 2670
Width = 1110
End

Begin VB.Label Labell4

AutoSize = -1 '"True
Caption = "1N"
Height = 195
Left = 2640
TabIndex = 33
Top = 3150
Width = 285
End
Begin VB.Label Label13
AutoSize = -1 '"True
Caption = "s1aaae"
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Height = 195
Left = 360
Tablndex = 32
Top = 3150
Width = 720
End
Begin VB.Label Label8
AutoSize = -1 'True
Caption = "%"
Enabled = (0 'False
Height = 210
Left = 1920
TablIndex = 20
Top = 1800
Width = 120
End
Begin VB.Label Label7
AutoSize = -1 "True
Caption = "fovaymsidou”
Enabled = 0 'False
Height = 210
Left = 120
TabIndex = 18
Top = 1800
Width = 1080
End
Begin VB.Label Label4
AutoSize = -1 "True
Caption = "vwiule1321"
Height = 210
Left = 3480

frmDepre2.frm
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TabIndex = 17
Top = 240
Visible = 0 'False
Width = 750
End
Begin VB.Label Label2
AutoSize = -1 '"True
Caption = "ym"
Height = 195
Left = 2160
TablIndex = 11
Top = 1350
Width = 285
End
Begin VB.Label Label5
AutoSize = -1 '"True
Caption = "szgznaRasudoy”
Height = 210
Left = 120
TabIndex = 10
Top = 870
Width = 1425
End
Begin VB.Label IblPeriod
AutoSize = -1 'True
Caption = "Period"
Height = 195
Left = 2640
Tablndex =9
Top = 870
Width = 450

frmDepre2.frm
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End

Begin VB.Label Label3

AutoSize = -1 'True
Caption = "yasusudu"
Height = 210
Left = 120
TabIndex = 8
Top = 390
Width = 870
End
Begin VB.Label label6
AutoSize = -1 'True
Caption = "Un"
Height = 195
Left = 2280
TabIndex =7
Top = 390
Width = 285
End
Begin VB.Label Labell
AutoSize = -1 'True
Caption = "yaf1wIn"
Height = 210
Left = 120
TablIndex = 6
Top = 1350
Width = 660
End
End

Begin MSFlexGridLib.MSFlexGrid fgl
Height = 5895

frmDepre2.frm
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Left = 3720
TablIndex = 4
Top = 240
Width = 3975
_ExtentX = 7011
_ExtentY = 10398
_Version = 393216

AllowBigSelection= 0 'False
AllowUserResizing= 3
BeginProperty Font {0BE35203-8F91-11CE-9DE3-00AA004BB851}

Name = "MS Sans Serif"
Size = 975

Charset = 222

Weight = 400

Underline = 0 'False
Italic = 0 'False

Strikethrough = 0 'False
EndProperty
End
End
Attribute VB_Name = "frmDepre2"
Attribute VB_GlobalNameSpace = False
Attribute VB_Creatable = False
Attribute VB_Predeclaredld = True
Attribute VB_Exposed = False
Option Explicit
Dim b, S, BV As Single 'MV = yjaﬁwﬁma"lﬁ’ (5119919) Market Value is declared in module
Dim n, k, SoldYR As Integer
Dim RArray() As Single u”aﬂ'wmmﬁa M ﬁymm Remain value array
'Dim D2Array() As Single ' ﬂ'”ll’a"ﬂlli 1M1VBAaYY) Depreciation declare in Modules

Dim MACRSRate(1 To 6, 1 To 21) As Single

frmDepre2.frm
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Private Sub cboPeriod_Change()
txtPeriod.Text = cboPeriod. Text

End Sub

Private Sub chkisSold_Click()
If chkisSold.Value = 1 Then
1sSoldAsset = True
Else
isSoldAsset = False
End If
End Sub

Private Sub cmdOk_Click()
cmdCalculate_Click
Unload Me
calculatedDepre = True
frmNPV .Enabled = True
End Sub

Private Sub Form_Load()

Dim basis As Single

Call DecorateFgl
Call chkisSold_Click
fmuaya "Misuduveaduning aw "Fuaanuluilfi 0" init basis value
basis = ProjSlot(ProjIndex(Curlndex)).Net(0)
If basis < 0 Then "°luﬂs€aﬁﬁmsmnu if there is invesement
txtBasis. Text = Abs(basis)
Else 'luns ﬁﬁqﬁhlﬂymnu there is no investment

txtBasis. Text=0

frmDepre2.frm
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End If

A IMUATIZIAINISAMUIUANABNT LU MACRS (GDS) #1114 6 ¥29d0 3,5,7,10,15 i@
20 init combo value

cboPeriod. Top = txtPeriod.Top

cboPeriod.AddItem ("3™)

cboPeriod. AddItem ("5")

cboPeriod. AddItem ("7")

cboPeriod. AddItem ("10")

cboPeriod.AddItem ("15")

cboPeriod. AddItem ("20")

cboPeriod. Text =3

Call initMACRSRate

txtPeriod.Text = ProjSlot(ProjIndex(CurIndex)). YearCalculate

End Sub

Private Sub initMACRSRate()

'MACRSRate(n,x) : n=mJ1tlm‘llS$EJSI.’JmﬁTu’JthLﬁ' 835771 number of recovery period x=1
year SunSunisaIneiif (=) e JevazussAudousia
MACRSRate(1, 1) =33.33

MACRSRate(1, 2) = 44.45

MACRSRate(1, 3) = 14.81

MACRSRate(1, 4) = 7.41

MACRSRate(2, 1) =20
MACRSRate(2, 2) =32
MACRSRate(2, 3) = 19.2
MACRSRate(2, 4) = 11.52
MACRSRate(2, 5) = 11.52
MACRSRate(2, 6) = 5.76

MACRSRate(3, 1) = 14.29
MACRSRate(3, 2) = 24.49

frmDepre2.frm



MACRSRate(3, 3) = 17.49
MACRSRate(3, 4) = 12.49
MACRSRate(3, 5) = 8.93
MACRSRate(3, 6) = 8.92
MACRSRate(3, 7) = 8.93
MACRSRate(3, 8) = 4.46

MACRSRate(4, 1) =10
MACRSRate(4, 2) = 18
MACRSRate(4, 3) = 14.4
MACRSRate(4, 4) =11.52
MACRSRate(4, 5) =9.22
MACRSRate(4, 6) = 7.37
MACRSRate(4, 7) = 6.55
MACRSRate(4, 8) = 6.55
MACRSRate(4, 9) = 6.55
MACRSRate(4, 10) = 6.55
MACRSRate(4, 11) = 3.28

MACRSRate(5,1) =5
MACRSRate(5, 2) = 9.5
MACRSRate(5, 3) = 8.55
MACRSRate(5, 4) =17.7
MACRSRate(5, 5) = 6.93
MACRSRate(5, 6) = 6.23
MACRSRate(5, 7) = 5.9
MACRSRate(5, 8) =5.9
MACRSRate(s, 9) = 5.91
MACRSRate(5, 10)=5.9
MACRSRate(5, 11)=5.91
MACRSRate(S, 12) = 5.9

frmDepre2.frm
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MACRSRate(5, 13) = 5.91
MACRSRate(s, 14) = 5.9

MACRSRate(5, 15) = 5.91
MACRSRate(s, 16) = 2.95

MACRSRate(6, 1) = 3.75
MACRSRate(6, 2) = 7.22
MACRSRate(6, 3) = 6.68
MACRSRate(6, 4) = 6.18
MACRSRate(6, 5) = 5.71
MACRSRate(6, 6) = 5.29
MACRSRate(6, 7) = 4.89
MACRSRate(6, 8) = 4.52
MACRSRate(6, 9) = 4.46
MACRSRate(6, 10) = 4.46
MACRSRate(6, 11) = 4.46
MACRSRate(6, 12) = 4.46
MACRSRate(6, 13) = 4.46
MACRSRate(6, 14) = 4.46
MACRSRate(6, 15) = 4.46
MACRSRate(6, 16) = 4.46
MACRSRate(6, 17) = 4.46
MACRSRate(6, 18) = 4.46
MACRSRate(6, 19) = 4.46
MACRSRate(6, 20) = 4.46
MACRSRate(6, 21) =2.23
End Sub

Private Sub cmdCalculate_Click()
On Error GoTo ErrMessage

Dim i As Integer

frmDepre2.frm
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Dim cumDepre As Single 'fudousiniazay 151umsfunn Book Value Iunsaizinmsuosy

Y4
NINY use for calculate Book value in case of sold asset

b = Val(txtBasis. Text)

S = Val(txtSalvage.Text)
SoldYR = Val(txtSoldYear. Text)
MV = Val(txtMarketValue. Text)

If optMethod(3) Then ' ﬁm’amﬁné BUTINUVY MACRS (GDS) cal by MACRS method
n = Val(cboPeriod.Text) + 1 '
Else ﬁmamﬂ'uﬁammmun“lmmwﬁw‘fwia"lﬂﬁysﬁ'uma, AR, VINAUAY, MACRS
(ADS) cal by other method
n = Val(txtPeriod.Text)
End If
If SoldYR > n And isSoldAsset Then ' ASSIoTUNSHENGINnTzozMId AR UToUTIAN
isSoldAfterCalDepre = True
ReDim RArray(0 To SoldYR + 1)
ReDim D2Array(0 To SoldYR + 1)
Else ' nidivigdunindneou nienedsuszeznaidmnuaudeusim
isSoldAfterCalDepre = False
ReDim RArray(0 Ton + 1)
ReDim D2Array(0 Ton + 1)
End If

If optMethod(0) Then 'ﬁmamﬂ'uﬁ BUSIMNMVY 1FUATY cal by Straight-Line method
Call calByStraightLineMethod

Elself optMethod(1) Then 'ﬁwmmﬁué AUIINWUY 2ATIU cal by Declining Balance method
Call calByDecliningBalanceMethod

Elself optMethod(2) Then 'f1u7Ia ﬂ'uﬁamwmu‘uu VINAUAY cal by Sum of Years Digit

method

frmDepre2.frm
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Cali calBySumofYearsDigitMethod
Elself optMethod(3) Then 'ﬁ1u3mﬂ'1lﬁ' 2UIIMUUY MACRS(GDS) cal by MACRS (GDS)
method ’

Call calByMAC‘RSMethod
Elself optMethod(4) Then 'ﬁmmﬂ'uﬁ' BUIIAWUY MACRS(ADS) cal by MACRS (ADS)
method

n=n+1

If SoldYR > n And isSoldAsset Then
ReDim RArray(0 To SoldYR + 1)
ReDim D2Array(0 To SoldYR + 1)

Else
ReDim RArray(0 To n)

ReDim D2Array(0 To n)

End If

Call caiByMACRSADSMethod
End If
Tuns@fifmsunoduning esfinsfnnusudeunnuazyamdunsndludfinsuasnd
mmfuzi‘luﬂsﬁﬁmy In case of selling asset
If isSoldAsset Then

n= SoldYR

SoldYear=n

If optMethod(3) And Not isSoldAfterCalDepre Then 'cal by MACRS GDS method and sold
asset before or same as recovery period

D2Array(n) = D2Array(n) / 2
Elself optMethod(3) And isSoldAfterCalDepre Then ‘'cal by MACRS GDS method and sold

asset after recovery period

End If

frmDepre2.frm
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End If

o 1
HHANHAANTDDNYATI N Display output

Call DecorateFgl

fgl.Rows=n+2
Fork=0Ton
fgl Row=k +1
fgl.Col=0: fgl.Text=k
fg1.Col = 1: fgl.Text = Str(Round(RArray(k)))
fgl.Col = 2: fg1.Text = Str(Round(D2Array(k)))
cumDepre = D2Array(k) + cumDepre
Next
"BV=Book Value ta1¢ TlinCaseOfSoldAsset (Taxable Income) 1%1ﬁﬂi ﬁﬁﬁms VIIFUNSNG Use
in case of sold asset. If not this 2 variable is not neccessary
BV =b - cumDepre
TIinCaseOfSoldAsset = MV - BV
Exit Sub

ErrMessage:
MsgBox "cmdCalculate_Click liaansafinian1d", vbOKOnly, "dudon”
End Sub

Private Sub fg1_Keyup(KeyCode As Integer, Shift As Integer)
Dim zero As Integer
zero = Asc("0")
If ((KeyCode >= 48 And KeyCode <= 57) Or (KeyCode >= 96 And KeyCode <= 105) Or
KeyCode = BSKey Or KeyCode = DELKey Or EnterKey) And Shift = 0 Then
If KeyCode >= 96 And KeyCode <= 105 Then
fg1.Text = Str(Val(fgl.Text & Chr(KeyCode - 96 + 48)))

Elself KeyCode >= 48 And KeyCode <= 57 Then

frmDepre2.frm
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fgl.Text = Str(Val(fgl.Text & Chr(KeyCode)))
Else
Select Case KeyCode
Case BSKey
If Len(fgl.Text) > 0 Then
fgl.Text = Str(Val(Left(fg1.Text, Len(fg1.Text) - 1))
End If
Case DELKey
fgl.Text = Str(Val("0"))
Case EnterKey
fg1.Col = (fgl.Col Mod 2) + 1
If (fgl.Col = 1) And (fg1.Row < fg1.Rows - 1) Then
fgl.Row = fgl.Row + 1
End If
End Select
End If '(KeyCode >= Asc("0") And KeyCode <= Asc("9")
updateNet
End If
End Sub

Sub DecorateFg1()

Dim i

fgl Rows =2

fgl.Cols =3

#3199 Ia15 19 M SRS oUEAINANS A1UIN Column header
fgl.Row =0: fg1.Col =0
optPeriod(2). Value = True
IblPeriod.Caption = optPeriod(2).Caption
fg1.Text = optPeriod(2).Caption
fg1.ColWidth(0) = 500
fgl.Col=1

frmDepre2.frm
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fg1.ColWidth(1) = 2000

fgl.Text = "IimaFaouiiell
fgl.Col=2

fg1.ColWidth(2) = 1000

fg1.Text = "ANdousIA"

fgl.Col=1
fgl.Row =
End Sub
Sub updateNet()
Dim income, outcome As Double
Dim cur As Integer
cur = fg1.Col
fgl.Col =1
income = Val(fgl.Text)
fgl.Col =2
outcome = Val(fgl.Text)
fgl1.Col =3
fg1.Text = Str(income - outcome)
fg1.Col = cur
End Sub

Private Sub Form_Resize()

If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me.Width = 7920
Me.Height = 7125

End If

End Sub

Private Sub optMethod_Click(Index As Integer)
Label7.Enabled = False: Label8.Enabled = False: txtPercent.Enabled = False

frmDepre2.frm



142

Labell. Enabled = True: Label2.Enabled = True: txtSalvage.Enabled = True
txtPeriod. Visible = True: cboPeriod.Visible = False
If Index = 1 Then
Label7.Enabled = True: Label8.Enabled = True: txtPercent.Enabled = True
Elself Index = 3 Then 'Muns@ififuniuism MACRS(GDS) 1 Woyanalddlidennetlon
fNUNAT User want to use MACRS (GDS) method
txtPeriod. Visible = False
cboPeriod.Visible = True
optPeriod(2).Value = True
Labell.Enabled = False: Label2.Enabled = False: txtSalvage.Enabled = False
Elself Index = 4 Then ‘lunsifif I8ty MACRS(ADS) v Weyga g lHidennsotloy
fUNATUser want to use MACRS (ADS) method
Labell.Enabled = False: Label2.Enabled = False: txtSalvage.Enabled = False
End If

End Sub

Private Sub optPeriod_Click(Index As Integer)
fgl.Col = 0: fgl.Row =0
If Index <> 3 Then
IbIPeriod.Caption = optPeriod(Index).Caption
fg1.Text = optPeriod(Index).Caption
Else
IblPeriod.Caption = txtOther
fgl.Text = txtOther
End If
End Sub

Private Sub txtOther Change()
fgl.Col =0: fgl.Row =0
optPeriod(3).Value = True

fgl. Text = txtOther

frmDepre2.frm



End Sub

Private Sub calByStraightLineMethod()
Dim depreciation As Single

Dim i As Integer

depreciation=(b-S)/n

D2Array(0) =0
RArray(0) =b
Fori=1Ton
D2Array(i) = depreciation
RArray(i) = RArray(i - 1) - D2Array(i)
Next

End Sub

Private Sub calByDecliningBalanceMethod()
Dim R As Single

Dim i As Integer

R = (Val(txtPercent.Text) / n) / 100

D2Array(0) =0
RArray(0) =b
Fori=1Ton
D2Array(i) = RArray(i- 1) * R
If RArray(i - 1) - D2Array(i) >= S Then
RArray(i) = RArray(i - 1) - D2Array(i)
Else
D2Array(i) = RArray(i- 1) - S
RArray(i) = RArray(i - 1) - D2Array(i)
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End If
Next
End Sub
Private Sub calBySumofYearsDigitMethod()
Dim depreciation As Single
Dim SumYear As Single

Dim i As Integer
SumYear=n*(n+1)/2

D2Array(0) =0
RArray(0) =b
Fori=1Ton
D2Array(i) = ((n+ 1 -1)/ SumYear) * (b - S)
RArray(i) = RArray(i - 1) - D2Array(i)
Next
End Sub
Private Sub calByMACRSMethod() '"MACRS (GDS) Method
Dim i As Integer, h As Integer

Dim RateType As Integer

n = cboPeriod.Text

'meﬁzUma1ﬁ1mmﬁn§amwmsmu MACRS(GDS) ﬁﬂﬁi$!ﬂ1’lﬂl@\ii$ 21301 convert
selected period with MACRS rate array

331 > szandi 1, 53 > dszanii 2, 73 > Ysmanii 3, 107 > Uszandi 4, 157 —>
Uszinndi 5, 203 > Uszianii 6

Select Case n

Case 3: RateType = 1

Case 5: RateType =2

Case 7: RateType =3

Case 10: RateType =4
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Case 15: RateType =5
Case 20: RateType =6
End Select

D2Array(0) =0
RArray(0)=b
n=n+1 'AufoNTIAMLY MACRS(GDS) szuanindond nazyamaunievesilganionly
Femennsudeunassnndu dnhussdeufiviufidmsuitumdandn beoz MACRS
will show the last year value so require one more year
Fori=1Ton
D2Array(i) = RArray(0) * MACRSRate(RateType, i) / 100
RArray(i) = RArray(i - 1) - D2Array(i)
Next
If isSoldAfterCalDepre Then
Fori=iTo SoldYR
D2Array(i) =0
RArray(i) =0
Next
End If
End Sub

Private Sub calByMACRSADSMethod()
Dim depreciation As Single

Dim i As Integer
depreciation=b/(n- 1)
D2Array(0) =0
RArray(0)=b

D2Array(1) = Round(depreciation / 2)
RArray(1) = b - D2Array(1)
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Fori=2Ton-1

D2Array(i) = depreciation

RArray(i) = RArray(i - 1) - D2Array(i)
Next
D2Array(n) = D2Array(1)
RArray(n) = RArray(i - 1) - D2Array(i)
End Sub
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Source Code :

VERSION 5.00

Object = "{SE9E78A0-531B-11CF-91F6-C2863C385E30}#1.0#0"; "MSFLXGRD.OCX"
Begin VB.Form frmDispATCFTable

Caption = "a13nduldndeinmi (ATCE)"

ClientHeight = 4650
ClientLeft = 60
ClientTop = 345
ClientWidth = 6960

Icon = "frmDispATCFTable.frx":0000
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LinkTopic = "Form1"
MaxButton = 0 'False
MDIChild = -1 'True

ScaleHeight = 4650
ScaleWidth = 6960
Begin VB.CommandButton btnOK

Caption = "anpy”
Default = -1 'True
Height = 375
Left = 5640
Tablndex = 1
Top = 4200
Width = 1215
End

Begin MSFlexGridLib.MSFlexGrid FG1

Height = 3975
Left = 120
Tablndex = 0
Top = 120
Width = 6735
_ExtentX = 11880
_ExtentY = 7011
_Version = 393216
End

End

Attribute VB_Name = "frmDispATCFTable"
Attribute VB_GlobalNameSpace = False
Attribute VB_Creatable = False

Attribute VB_Predeclaredld = True
Attribute VB_Exposed = False

Option Explicit
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Private Sub btnOK_Click()
Unload Me
End Sub

Private Sub Form_Load()
Dim i, k As Integer
uaaenadns nssiuaa uuuiudvdainai (After-Tax Cash Flow) Tagiisein
frmNPV.FG2 ¥ UITR
FG1.Rows = frmNPV.FG2.Rows
FG1.Cols = frmNPV.FG2.Cols
Fori=0To FG1.Rows - 1
FG1.Row =1i: frmNPV.FG2.Row =i
For k=0 To FG1.Cols - i
FG1.Col =k: frmNPV.FG2.Col = k
FG1.Text = frmNPV.FG2.Text
Next k
Next i

End Sub

Private Sub Form_Resize()

If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me.Width = 7080
Me.Height = 5055

End If

End Sub
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Source Code :

VERSION 5.00
Object = "{SE9E78A0-531B-11CF-91F6-C2863C385E30}#1.0#0"; "MSFLXGRD.OCX"
Begin VB.Form frmLeasing

Caption = "ﬁuﬁ"

ClientHeight = 6165

ClientLeft = 60



ClientTop
ClientWidth
Icon =
LinkTopic
MaxButton
MDIChild
ScaleHeight
ScaleWidth

151

= 345

= 6870
"frmleasing.frx":0000
= "Forml"

= 0 'False
= -1 "True

= 6165
= 6870

Begin VB.CommandButton cmdCalculate

Caption = "MUIN"
Default = -] '"True
Height = 375

Left = 4200
TablIndex = 10
Top = 5640
Width = 1215
End
Begin VB.Frame Framel
Caption = "goaiiuf uazsasnenide”
Height = 2295
Left = 120
TabIndex =1

Top = 120
Width = 6615

Begin VB.TextBox txtPeriod

Height = 285
Left = 5040
TablIndex = 8
Text = "4"
Top = 720
Width = 495

frmLeasing.frm
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End

Begin VB.TextBox txtPresentValue

Height = 285
Left = 960
TablIndex =0
Text = "40000"
Top = 360
Width = 855
End

Begin VB.TextBox txtOther

Height = 285
Left = 3120
Tablndex = 7
Top = 1800
Width = 735
End

Begin VB.OptionButton optPeriod

Caption = "5uc]"
Height = 195
Index =3

Left = 2400
TabIndex =6
Top = 1800
Width = 615
End

Begin VB.OptionButton optPeriod

Caption =
Height = 195
Index =2

Left = 2400
Tablndex =5

frmLeasing.frm
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Top = 1470
Width = 495

End

Begin VB.OptionButton optPeriod
Caption = "lasua”
Height = 195
Index =1

Left = 2400
TabIndex = 4

Top = 1110
Width = 855

End

Begin VB.OptionButton optPeriod
Caption = "Rou"
Height = 195
Index =0
Left = 2400
TabIndex =3
Top = 750
Width = 735
End

Begin VB.TextBox txtInterest

Height = 285
Left = 1200
TabIndex =2
Text = "10"
Top = 720
Width = 495
End

Begin VB.Label Label5

AutoSize = -1 "True

frmLeasing.frm
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Caption = "Jyezan”
Height = 195

Left = 4200
TabIndex = 17

Top = 750

Width = 675
End

Begin VB.Label IblPeriod

AutoSize = -1 "True
Caption = "Period"
Height = 195
Left = 5760
TabIndex = 16
Top = 750
Width = 450
End
Begin VB.Label Label3
AutoSize = -1 'True
Caption = "goARUY"
Height = 195
Left = 120
TabIndex =15
Top = 390
Width = 675
End
Begin VB.Label label6
AutoSize = -1 "True
Caption = "ymn"
Height = 195
Left = 1920
TabIndex = 14

frmLeasing.frm



Top = 390
Width = 285
End

Begin VB.Label Label2

AutoSize = -1 "True
Caption = "% @®"
Height = 195
Left = 1800
TabIndex = 13
Top = 750
Width = 405
End
Begin VB.Label Labell
AutoSize = -1 "True
Caption = "Sasaenidy”
Height = 195
Left = 120
TablIndex = 12
Top = 750
Width = 945
End
End

Begin VB.CommandButton cmdBackToMenu

Caption = "8ian"
Height = 375
Left = 5520
TabIndex = 11
Top = 5640
Width = 1215
End

Begin MSFlexGridLib.MSFlexGrid fg1

frmLeasing.frm
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Height = 3015
Left = 120
TabIndex =9
Top = 2520
Width = 6615
_ExtentX = 11668
_ExtentY = 5318
_Version = 393216

AllowBigSelection= 0 'False
AllowUserResizing= 3

BeginProperty Font {0BE35203-8F91-11CE-9DE3-00AA004BB851}

Name = "MS Sans Serif"
Size = 9.75

Charset = 222

Weight = 400

Underline = 0 'False
Ttalic = 0 'False

Strikethrough = 0 'False
EndProperty
End
"End
Attribute VB_Name = "frmleasing"
Attribute VB_GlobalNameSpace = False
Attribute VB_Creatable = False
Attribute VB_Predeclaredld = True
Attribute VB_Exposed = False

Option Explicit

Private Sub cmdBackToMenu_Click()
Unload Me
End Sub

frmLeasing.frm
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Private Sub cmdCalculate_Click()

On Error GoTo ErrMessage

Dim a, P, i, t As Single

Dim n, k As Integer

Dim PArray(), iArray(), PayArray() As Single
P = Val(txtPresentValue.Text)

i = Val(txtInterest. Text) / 100

n = Val(txtPeriod.Text)

ReDim PArray(0 To n), iArray(n + 1), PayArray(n + 1)

Ifi<> 0 Then
t=(1+1i)"n
a=P*({(i*0/(t-1)

Else
a=P/n

End If

PArray(0) =P
Fork=1Ton
iArray(k) = PArray(k - 1) * i 'ﬁwmmmﬂ'é)ﬂn‘fﬂiiw“lmmﬂmﬁu cal curent period interest
iArray(n + 1) = iArray(n + 1) + iArray(k) 'Lﬁutjﬂﬂi’auﬂﬂm‘ﬁyﬂﬁ‘ﬁwqﬂ sum interest
PayArray(k) = a - iArray(k) 'ﬁm’;mmﬁué’fuﬁﬁiw“lmmi‘]imﬁu cal curent period payment
PayArray(n + 1) = PayArray(n + 1) + PayArray(k) 'Lﬁﬁﬂeﬂﬁuﬁ'uﬁviauda”lﬂuéﬁ sum
payment
PArray(k) = PArray(k - 1) - PayArray(k) ‘11 1IdUAUAIA1 o4 20dlogliu  cal remain
loan

Next

Call DecorateFgl

frmLeasing.frm
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FGl.Rows=n+3
FG1.Col = 0: FG1.Row = 1: FG1.Text = 0
FG1.Col = 1: FG1.Row = 1: FG1.Text = PArray(0)
Fork=1Ton
FGl.Row=k + 1
FG1.Col=0: FG1.Text =k
FG1.Col = 1: FG1.Text = Str(Round(PArray(k), 2))
FGI.Col = 2: FG1.Text = Str(Round(iArray(k), 2))
FG1.Col = 3: FG1.Text = Str(Round(PayArray(k), 2))
FG1.Col = 4: FG1.Text = Str(Round(a, 2))
Next
FG1.Row=n+2 'uﬂmﬁmasmﬁmsﬁmgﬂﬁ'w goto after last row
FG1.Col = 0: FG1.Text="531"
FG1.Col = 2: FG1.Text = Str(Round(iArray(n + 1), 2))
FG1.Col = 3: FG1.Text = Str(Round(PayArray(n + 1), 2))
FG1.Col = 4: FG1.Text = Str(Round(a * n, 2))
Exit Sub

ErrMessage:
MsgBox "liannsadimaa1d", voOKonly, "Sufien”
End Sub

Private Sub fgi_Keyup(KeyCode As Integer, Shift As Integer)
Dim zero As Integer
zero = Asc("0")
If (KeyCode >= 48 And KeyCode <= 57) Or (KeyCode >= 96 And KeyCode <= 105) Or
KeyCode = BSKey Or KeyCode = DELKey Or EnterKey) And Shift = 0 Then
If KeyCode >= 96 And KeyCode <= 105 Then
FG1.Text = Str{Val(FG1.Text & Chr(KeyCode - 96 + 48)))
Elself KeyCode >= 48 And KeyCode <= 57 Then
FG1.Text = Str(Val(FG1.Text & Chr{KeyCode)))

frmlLeasing.frm
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Else
Select Case KeyCode
Case BSKey
If Len(FG1.Text) > 0 Then
FG1.Text = Str(Val(Left(FG1.Text, Len(FG1.Text) - 1))
End If
Case DELKey
FG1.Text = Str(Val("0"))
Case EnterKey
FG1.Col = (FG1.Col Mod 2) -+ 1
If (FG1.Col = 1) And (FG1.Row < FG1.Rows - 1) Then
FG1.Row =FGl.Row + 1
End If
End Select
End If '(KeyCode >= Asc("0") And KeyCode <= Asc("9")
updateNet
End If
End Sub

Sub DecorateFg1()

Dim i

FG1.Rows=2

FG1.Cols=5

oM umsuanIHadnEINNsAUI Column header
FGl.Row=0
FG1.Col=0
optPeriod(0).Value = True
IblPeriod.Caption = optPeriod(0).Caption
FG1.Text = optPeriod(0).Caption
FG1.ColWidth(0) = 700
FG1.Col=1

frmLeasing.frm
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FG1.Text = "3uAn"
FG1.Col =2
FGl1.Text = "ﬂi)ﬂl‘f?ﬁ"
FG1.Col =3
FG1.Text = "Sudufinouds"
FG1.ColWidth(3) = 1300
FG1.Col=4
FG1.Text = "$1UIUNDUADIIA"
FG1.ColWidth(4) = 1700

'Row header

FG1.Row = FGl.Rows - 1: FG1.Col = 0: FG1.Text = "534"

FG1.Col=1
FGl.Row=1
End Sub

Private Sub Form_Load()
Call DecorateFgl
End Sub

Sub updateNet()
Dim income, outcome As Double
Dim cur As Integer
cur = FG1.Col
FG1.Col=1
income = Val(FG1.Text)
FG1.Col=2
outcome = Val(FG1.Text)
FG1.Col=3
FG1.Text = Str(income - outcome)

FG1.Col = cur

frmLeasing.frm
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End Sub

Private Sub Form_Resize()

If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me. Width = 6990
Me.Height = 6570

End If

End Sub

Private Sub optPeriod_Click(Index As Integer)
FG1.Col=0: FGI.Row =0
If Index <> 3 Then
IblPeriod.Caption = optPeriod(Index).Caption
FG1.Text = optPeriod(Index).Caption
Else
IblPeriod.Caption = txtOther
FG1.Text = txtOther
End If
End Sub

Private Sub txtOther Change()
FG1.Col =0: FG1.Row =0
optPeriod(3).Value = True
FG1.Text = txtOther

End Sub

frmLeasing.frm
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Source Code :

VERSION 5.00

Begin VB.Form frmEffectivelnt
Caption = "A1U29 Nominal&Effective"
ClientHeight = 4680
ClientLeft = 60

ClientTop 345
ClientWidth = 3600
Icon = "frmEffectivelnt.frx":0000

LinkTopic = "Forml"
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MaxButton = 0 'False
MDIChild = -1 "True
ScaleHeight = 4680

ScaleWidth = 3600
Begin VB.Frame Frame3

Caption = sauAlumsfuinaenidlonuy Effective”
Height = 1095
Left = 120
TabIndex = 14
Top = 2520
Width = 3375
Begin VB.OptionButton optECalEvery
Caption = "ynlasue”
Height = 255
Index =1
Left = 1560
Tablndex = 18
Top = 360
Width = 1095
End
Begin VB.OptionButton optECalEvery
Caption = "yMfeu"
Height = 255
Index =0
Left = 120
TabIndex = 17
Top = 360
Width = 975
End

Begin VB.OptionButton optECalEvery

. T
Caption = "WnA3sY

frmEffectiveint.frm
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Height = 255
Index = 2

Left = 120
TabIndex = 16
Top = 720
Width = 1095
End

Begin VB.OptionButton optECalEvery
Caption = "nﬂ?.l"
Height = 255
Index =3
Left = 1560
TablIndex = 15
Top = 720
Width = 975
End

End

Begin VB.CommandButton btnCancel
Caption = "gnian"
Height = 375
Left = 228v
TabIndex = 13
Top = 4200
Width = 1215

End

Begin VB.CommandButton btnCalculate

Caption = "S1un"
Default = -1 'True
Height = 375
Left = 960
TabIndex = 12

frmEffectivelnt.frm
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Top = 4200
Width = 1215
End

Begin VB.TextBox txtAllMonth

Enabled = (0 'False
Height = 285
Left = 1440
Tablndex = 11
Top = 4200
Visible = 0 'False
Width = 375
End

Begin VB.Frame Frame2
Caption — "adlumsfnnaenid oLy Nominal”
Height = 1095
Left = 120
Tablndex = 5

Top = 1320
Width = 3375

Begin VB.OptionButton optCalEvery

Caption = "T}il"’TJ"
Height = 255

Index =3

Left = 1560
Tablndex =9

Top = 720

Width = 975
End

Begin VB.OptionButton optCalEvery
Caption = "qAAsaEr
Height = 255

frmEffectiveint.frm
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Index = 2

Left = 120

TabIndex = 8

- Top = 720

Width = 1095

End

Begin VB.OptionButton optCalEvery
Caption = "vgmﬁau"
Height = 255

Index = 0

Left = 120

TabIndex =7

Top = 360
Width = 975

End

Begin VB.OptionButton optCalEvery
Caption = "ynlasuae
Height = 255
Index = 1
Left = 1560
TablIndex =6
Top = 360
Width = 1095

End

End

Begin VB.TextBox txtInterest

Height = 285
Left = 1800
TablIndex = 4
Top = 3840
Width = 615

frmEffectivelnt.frm
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End
Begin VB.Frame Framel
Caption = riAveIRDNEEINS 1"
Height = 1095
Left = 120
Tablndex = 0
Top = 120
Width = 3375

Begin VB.OptionButton optKnowlInt

Caption = "Effective Interest Rate"
Height = 255

Index =1

Left = 120

TabIndex = 2

Top = 720

Width = 2055

End

Begin VB.OptionButton optKnowInt

Caption = "Nominal Interest Rate

Height = 255
Index =0
Left = 120
TabIndex =1
Top = 360
Value = -1 '"True
Width = 1935
End

End

Begin VB.Label Label3
AutoSize = -1 "True
Caption = "HHHHHHHH"

frmEffectivelnt.frm



Height = 195
Left = 2520
TabIndex = 19
Top = 3885
Width = 960
End
Begin VB.Label Label2
AutoSize = -1 "True
Caption =" 383!’.]?117‘::\111%@
Height = 195
Left = 120
TablIndex = 10
Top = 4245
Visible = 0 'False
Width = 2190
End
Begin VB.Label Labell
AutoSize = -1 "True
Caption = "§A51ADNITY Nominal”
Height = 195
Left = 120
TabIndex =3
Top = 3885
Width = 1560
End

End

Attribute VB_Name = "frmEffectivelnt”
Attribute VB_GlobalNameSpace = False
Attribute VB_Creatable = False
Attribute VB_Predeclaredld = True

Attribute VB_Exposed = False

frmEffectivelnt.frm

168

=)
pou"



169

Option Explicit
Dim i As Single, R As Single, m As Single, k As Single, Eperiod As Single
Dim period As String, period2 As String

Private Sub btnCalculate_Click()
On Error GoTo ErrMsg
k = Int(Eperiod / (12 / m))
If optKnowInt(0).Value Then 'N3y 5¢|smam‘ﬁyﬂuuu Nominal --> ¥ é”mmamﬁymmu
Effective know Nominal so find Effective
R = Val(txtInterest. Text) / 100 * m
i=({(1+R/m)~k-1)*100
Ifk > 0 Then
MsgBox TS IABALD I Effective AR * & RoundG, 3) & "% #o" & period2,
vbInformation + vbOKOnly, wamsilaenenide
Else
MsgBox Al UM NIRRT UILY Nominal 1¥deannnmienhiy anudly
13 ﬁwmmﬂ@mﬁymmu Effective", vbExclamation + vbOKOnly, "Sudou"
End If
Else "N311 993 mamﬁyﬁuw Effective --> 11 8R13 M’éJﬂL‘ﬁ’ULL‘U‘LI Nominal know Effective so
find Nominal
i = Val(txtInterest. Text) / 100
R=((1+1)"(1/k-1)*100
If m=1 Then
MsgBox "ONg 1ﬂ®ﬂl‘ﬁyﬂtm‘u Nominal DA UNINY " & Round(R, 3) & "% fe" & period,
vbInformation + vbOKOnly, wamsuilasaeniiu”
Else
MsgBox "5ﬁimam‘ﬁymmn Nominal YA UNNY " & Round(R, 3) & "% fp" & period & "
1159 " & Round(R, 3) *m & " % G’iéﬁ_l", vbInformation + vbOKOnly, "NaN13 Llﬂmﬂ@ﬂl‘ﬁyﬁ"
End If
End If 'optKnowInt(0). Value Then 'know Nominal so find Effective

Exit Sub

frmEffectiveint.frm
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ErrMsg:

If Err.Number = 11 Then '1Uns8ifnia divide by zero

" o o dy . Y ' =3 ' w A
MsgBox ﬂ’)'lllﬂcluﬂ'liﬂTu'Jmﬂ’ﬂﬂl‘UfJu‘U'U Nominal 9¥A9IU1NNIIVTBLININU mmn”lu
9

MIMUINABNDYLLY Effective", vbExclamation + vbOKOnly, "ﬁuﬁau"

End If
End Sub

Private Sub btnCancel Click()
Unload Me
End Sub

Private Sub Form_Load()

optKnowInt(0). Value = True 'select Nominal Interest Rate as type of known interest rate
optCalEvery(3).Value = True 'select Yearly as calculate period (M)
optECalEvery(3).Value = True 'select Yearly as calculate period (K)

End Sub

Private Sub Form_Resize()

If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me.Width = 3720
Me.Height = 5085

End If

End Sub

Private Sub optCalEvery Click(Index As Integer)
Select Case Index
Case 0: m = 12: period = "Rou"
Case 1: m = 4: period = “lasunan
. 2
Case 2: m = 2: period = "A39Y"

Case 3: m = 1: period = ]

frmEffectivelnt.frm
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End Select

If optKnowInt(0).Value Then
Label3.Caption = "% fo" & period

End If

End Sub

Private Sub optECalEvery Click(Index As Integer)
Select Case Index

Case 0: Eperiod = 1: period2 = "Reu"

Case 1: Eperiod = 3: period2 = "asuner

Case 2: Eperiod = 6: period2 = "ﬂ?ﬂﬂ"

Case 3: Eperiod = 12: period2 = nq]
End Select

txtAllMonth.Text = 12 / Eperiod

If optKnowInt(1).Value Then
Label3.Caption = "% o " & period2
End If

End Sub

Private Sub optKnowlInt_Click(Index As Integer)
If Index = 0 Then
Labell.Caption = "ONT MEJﬂLid;‘U Nominal"
Label3.Caption = "% 99 " & period
Elself Index = 1 Then
Labell.Caption = "$a51AONITY Effective”
Label3.Caption = "% #8 " & period2
End If
End Sub

frmEffectivelnt.frm
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Source Code :

VERSION 5.00
Object ="{831FDD16-0C5C-11D2-A9FC-0000F8754DA1}#2.0#0"; "MSCOMCTL.OCX"
Object = "{F9043C88-F6F2-101A-A3C9-08002B2F49FB}#1.2#0"; "comdlg32.ocx"
Begin VB.MDIForm MDIfrmMain
BackColor = &HB8000000C&

Caption = "Engineering Economy"
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ClientHeight = 8310

ClientLeft = 165

ClientTop = -210

ClientWidth = 9615

Icon = "MDIfrmMain.frx":0000
LinkTopic = "MDIForml"
StartUpPosition = 2 'CenterScreen
Tag = "Engineering Economy"

Begin MSComDlg.CommonDialog Dlg1

Left = 960

Top = 600
_ExtentX = 847
_ExtentY = 847
_Version = 393216
End

Begin MSComctlLib.ImageList ImageList1

Left = 120

Top = 600

_ExtentX = 1005
_ExtentY = 1005
BackColor = -2147483643
ImageWidth = 16
ImageHeight = 16
MaskColor = 12632256
_Version = 393216

BeginProperty Images {2C247F25-8591-11D1-B16A-00C0F0283628}
NumListlmages = 9
BeginProperty ListImagel {2C247F27-8591-11D1-B16A-00C0F0283628}
Picture = "MDIfrmMain.frx":0442

Key

EndProperty

MDlifrmMain.frm
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BeginProperty Listimage2 {2C247F27-8591-1 1D1-B16A-00C0F0283628}
"MDIfrmMain.frx":089C

Picture
Key = "

EndProperty

BeginProperty ListImage3 {2C247F27-8591-11D1-B16A-00C0F0283628}
Picture = "MDIfrmMain.frx":0BB6
Key = "

EndProperty

BeginProperty Listimage4 {2C247F27-8591-11D1-B16A-00C0F0283628}
Picture = "MDIfrmMain.frx";:0EDO
Key = "

EndProperty

BeginProperty ListImageS {2C247F27-8591-11D1-B16A-00C0F0283628}
Picture = "MDIfrmMain.frx":1322
Key = M

EndProperty

BeginProperty Listlmage6 {2C247F27-8591-11D1-B16A-00C0F0283628}
Picture = "MDIfrmMain.frx":1774
Key ="

EndProperty

BeginPrope:ty Listimage7 {2C247F27-8591-11D1-B16A-00C0F0283628}

"MDIfrmMain.frx":1BC6

Picture
Key = "

EndProperty

BeginProperty Listimage8 {2C247F27-8591-11D1-B16A-00C0F0283628}

1l

Picture "MDIfrmMain.frx":1CD8

Key ="

EndProperty

BeginProperty Listimage9 {2C247F27-8591-11D1-B16A-00C0F0283628}
Picture = "MDIfrmMain.frx":1DEA

— "n

Key

MDIfrmMain.frm
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EndProperty
EndProperty
End
Begin MSComctlLib.Toolbar Toolbarl

Align = 1 'Align Top
Height = 420

Left =0

TabIndex = 0

Top = 0

Width = 9615
_ExtentX = 16960
_ExtentY = 741

ButtonWidth = 609

ButtonHeight = 582
Appearance = 1
ImageList = "ImageListl"
_Version = 393216

BeginProperty Buttons {66833FE8-8583-11D1-B16A-00C0F0283628}
NumButtons = 11

BeginProperty Buttonl {66833FEA-85 83-11D1-B16A-00C0F0283628}

Key = "mnuNew"
Object.ToolTipText = "New"
Imagelndex = 7
EndProperty

BeginProperty Button2 {66833FEA-8583-11D1-B16A-00C0F0283628}

Key = "mnuOpen"
Object.ToolTipText = "Open"
Imagelndex = 8
EndProperty

BeginProperty Button3 {66833FEA-8583-1 1D1-B16A-00COF0283628}

Key = "mnuSave"

MDIfrmMain.frm
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Object.ToolTipText = "Save"
Imagelndex = 9
EndProperty

BeginProperty Button4 {66833FEA-8583-1 1D1-B16A-00C0F0283628}
Style = 3

EndProperty

BeginProperty Button5 {66833FEA-8583-11D1-B16A-00C0F0283628}

Key = "mnuFinanceSheet"

Object. ToolTipText = "NPV, IRR and PB"
Imagelndex = 1

EndProperty

BeginProperty Button6 {66833FEA-8583-11D1-B16A-00C0F0283628}

Key = "mnuLoan"
Object. ToolTipText = "Loan"
Imagelndex = 2
EndProperty

BeginProperty Button7 {66833FEA-8583-11D1-B16A-00C0F0283628}

Key = "mnuDepreciation"
Object. ToolTipText = "Depreciation”
Imagelndex = 3

EndProperty

BeginProperty Button8 {66833FEA-8583-11D1-B16A-00C0F0283628}

Key = "mnuConvertNo2Efx"

Object.ToolTipText = "Convert Nominal <--> Effective interest rate"
Imagelndex = 4

EndProperty

BeginProperty Button9 {66833FEA-8583-11D1-B16A-00C0F0283628}

Key = "mnuFactors"
Object. ToolTipText = "Factors"
Imagelndex = 5
EndProperty

MDIfrmMain.frm



177

BeginProperty Button10 {66833FEA-8583-11D1-B16A-00COF0283628}
Style =3
EndProperty

BeginProperty Button11 {66833FEA-8583-11D1-B16A-00C0F0283628}

Key = "mnuExit"
Object. ToolTipText = "Exit"
ImageIndek =6
EndProperty

EndProperty

End

Begin VB.Menu mnuFile

Caption = "&File"

WindowList = -1 'True

Begin VB.Menu mnuNew
Caption = "&New"

End

Begin VB.Menu mnuOpen
Caption = "&Open"

End

Begin VB.Menu mnuSave

Caption = "&Save!

End

Begin VB.Menu mnuSaveAs
Caption = "Save &as..."

End

Begin VB.Menu mnuLine
Caption = "

End

Begin VB.Menu mnuExit
Caption = "E&xit"

End

MDIfrmMain.frm
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Begin VB.Menu mnuTools
Caption = "&Tools"
Begin VB.Menu mnuNPVIRRPB
Caption = "&NPV, IRR and PB"
End

Begin VB.Menu mnuloan
Caption = "&Loan"

End

Begin VB.Menu mnuDepreciation
Caption = "&Depreciation"

End

Begin VB.Menu mnuConvertInt
Caption = "&Convert interest"

End

Begin VB.Menu mnuFactors

Caption = "&Factors"
End
End
Begin VB.Menu mnuWindow
Caption = "Window"
Visible = 0 'False
Begin VB.Menu mnuCascade
Caption = "Cascade"
End
Begin VB.Menu mnuTile
Caption = "Tile"
End

Begin VB.Menu mnuMinimizeAll
Caption = "Minimize All"

End

MDIfrmMain.frm

178



179

Begin VB.Menu mnuMaximizeAll

Caption = "Maximize All"
End
End
Begin VB.Menu mnuHelp
Caption = "&Help"
End

End

Attribute VB_Name = "MDIfrmMain"
Attribute VB_GlobalNameSpacq = False
Attribute VB_Creatable = False
Attribute VB_Predeclaredid = True
Attribute VB_Exposed = False

Option Explicit

Private Sub mnuExit_Click()
End
End Sub

Private Sub mnuConvertInt_Click()
frmEffectivelnt.Show

End Sub

Private Sub mnuDepreciation_Click()
frmDeprel.Show
End Sub

Private Sub mnuFactors_Click()
frmFactor.Show

End Sub

MDIfrmMain.frm
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Private Sub mnuHelp Click()
Call LaunchFile
End Sub

Private Sub mnuLoan_Click()
frmLeasing.Show

End Sub

Private Sub mnuNew_Click()

Dim i As Integer

aulasans “ﬁ\‘muﬂ Clear all project slot allocation by set flag of slot from 1 to 0
Fori=1 To LastIndex
ProjSlot(ProjIndex(i)).Flag = 0
ProjIndex(i) = 0
Next
LastIndex =0
MDIfrmMain.Dlgl.FileName = ""
MDIfrmMain.Caption = MDIfrmMain.Tag

frmNPV.Form_Activate

End Sub

Private Sub mnuNPVIRRPB_Click()
frmNPV.Show
End Sub

Private Sub mnuOpen_Click()

Call LoadFileDlg
End Sub

MDlIfrmMain.frm
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Private Sub mnuSave_Click()
Call FileSaveDlg
End Sub

Private Sub mnuSaveAs_Click()
Call FileSaveAsDlg
End Sub

Private Sub Toolbarl_ButtonClick(ByVal Button As MSComctlLib.Button)
Select Case Button.Key

Case "mnuFinanceSheet”: mnuNPVIRRPB_Click

Case "mnuloan": mnuLoan_Click

Case "mnuDepreciation": mnuDepreciation_Click

Case "mnuConvertNo2Efx": mnuConvertInt_Click

Case "mnuFactors": mnuFactors_Click

Case "mnuNew": mnuNew_Click
Case "mnuOpen": mnuOpen_Click

Case "mnuSave": mnuSave_Click

Case "mnuExit": mnuExit_Click

End Select
End Sub

MDIfrmMain.frm
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Source Code :
VERSION 5.00
Begin VB.Form frmFactor
Caption = "A1178 Factor AgH"
ClientHeight = 4365
ClientLeft = 60
ClientTop = 345

ClientWidth = 7335

Icon = "frmFactor.frx":0000
LinkTopic = "Forml"
MaxButton = 0 "Ealse

MDIChild = -1 '"True
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ScaleHeight = 4365

ScaleWidth = 7335

Begin VB.Frame Frame?2

Caption = "Factor fIQaifiABINITNIIL"
Height = 2055

Left = 120

TablIndex =35

Top = 2160

Width = 7095

Begin VB.CommandButton cmdCalculateFactor

Caption = "mum”
Default = -1 "True
Height = 375

Left = 600
TablIndex = 31

Top = 1560
Width = 1335
End

Begin VB.CommandButton cmdBackToMenu

Caption = "gnian"
Height = 375

Left = 4920

TabIndex = 34

Top = 1560

Width = 1335
End
Begin VB.CommandButton cmdDeselectAll
Caption = "pnENRaNLA”
Height = 375

Left = 3480

TablIndex = 33

frmFactor.frm
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Top = 1560
Width = 1335
End
Begin VB.CommandButton cmdSelectAll
Caption = "Eonanua”
Height = 375
Left = 2040
Tablndex = 32
Top = 1560
Width = 1335
End

Begin VB.CheckBox chkFactor

Caption = "(F/P,i,n)"
Height = 195

Index =0

Left = 240
TablIndex = 22

Top = 360

Width = 975

End

Begin VB.CheckBox chkFactor

Caption = "(F/Ajin)"
Height = 195
Index = 1]

Left = 240
TabIndex = 23

Top = 720
Width = 975

End

Begin VB.CheckBox chkFactor
Caption = "(F/G,in)"

frmFactor.frm
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Height = 195
Index = 2
Left = 240
TablIndex = 24
Top = 1080
Width = 975
End

Begin VB.CheckBox chkFactor

Caption = "(P/F, i, n)"
Height = 195

Index =3

Left = 2520
TablIndex = 25

Top = 360

Width = 975

End

Begin VB.CheckBox chkFactor

Caption = "(P/A,in)"
Height = 195

Index = 4

Left = 2520
TabIndex = 26

Top = 720

Width = 975

End

Begin VB.CheckBox chkFactor
Caption = "(P/G,in)"
Height = 195
Index =35
Left = 2520
Tablndex = 27

frmFactor.frm
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Top = 1080
Width = 975
End

Begin VB.CheckBox chkFactor

Caption = "(A/F,i,n)"
Height = 195

Index = 6

Left = 4800
TabIndex = 28

Top = 360

Width = 975

End

Begin VB.CheckBox chkFactor

Caption = "(A/P,in)"
Height = 195
Index =17

Left = 4800
TabIndex = 29

Top = 720
Width = 975

End

Begin VB.CheckBox chkFactor

Caption = "(A/G,in)"
Height = 195
Index = 8

Left = 4800
TabIndex = 30

Top = 1080
Width = 975

End

Begin VB.Label IblFactorValue

frmFactor.frm
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Height
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= 360

i

0 'False

45

Begin VB.Label IblFactorValue

AutoSize
Height
Index

Left

TabIndex

Top

Visible

Width
End

= -] '"True

= 195

= 720

= 0 'False

= 45

Begin VB.Label IblFactorValue

AutoSize
Height
Index

Left

Tablndex

Top

Visible

Width
End

= -1 'True

= 195

= (0 'False

= 45

Begin VB.Label IblFactorValue

AutoSize

frmFactor.frm

= -1 '"True
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Height = 195
Index =3

Left = 3600
Tablndex = 11
Top = 360
Visible = (0 'False
Width = 45

End

Begin VB.Label IblFactorValue

AutoSize = -1 True
Height = 195
Index =4

Left = 3600
TabIndex = 10
Top = 720
Visible = 0 'False
Width = 45

End

Begin VB.Label IblFactorValue

AutoSize = -1 "True
Height = 195
Index =5

Left = 3600
TablIndex =9

Top = 1080
Visible = 0 'False
Width = 45

End

Begin VB.Label IblFactorValue
AutoSize = -1 "True

Height = 195

frmFactor.frm
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Left
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= 360
= 0 'False

= 45

Begin VB.Label IbiFactorValue

AutoSize
Height
Index

Left

TablIndex

Top

Visible

Width
End

= -1 'True

= 195

= 0 'False

45

Begin VB.Label IblFactorValue

AutoSize = -1 "True
Height = 195
Index = 8
Left = 5880
Tablndex = 6
Top = 1080
Visible = 0 'False
Width = 45

End

End

Begin VB.Frame Framel
Caption = "56]5']ﬂﬂﬂ!‘ﬁyﬂ uagssgsIn”
Height = 1935

frmFactor.frm
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Left = 120
Tablndex =0
Top = 120
Width = 7095

Begin VB.TextBox txtInterest

Height = 285
Left = 1200
TabIndex = 15
Top = 360
Width = 495
End

Begin VB.OptionButton optPeriod

Caption = "lAau"
Height = 195
Index = = 0

Left = 2520
TabIndex = 16
Top = 390
Width = 735
End

Begin VB.OptionButton optPeriod

Caption = "lasana"
Height = 195
Index = 1]
Left = 2520
Tablndex = 17
Top - 750
Width = 855
End

Begin VB.OptionButton optPeriod
Caption = "

frmFactor.frm
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Height = 195

Index = 2
Left = 2520
TabIndex = 18
Top = 1110
Width = 495
End

Begin VB.TextBox txtPeriod

Height = 285

Left = 5040

TabIndex = 21

Top = 360

Width = 495
End

Begin VB.OptionButton optPeriod

Caption = "éu“']"
Height = 195
Index =3

Left = 2520
Tablndex =19
Top - = 1470
Width = 615
End

Begin VB.TextBox txtOther

Height = 285
Left = 3240
TabIndex = 20
Top = 1440
Width = 735
End
Begin VB.Label Labell
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AutoSize = -1 'True
Caption = "Sasneni"
Height = 195
Left = 120
TabIndex = 4
Top = 390
Width = 945
End
Begin VB.Label Label2
AutoSize = -1 "True
Caption = "% A"
Height = 195
Left = 1920
TabIndex = 3
Top = 390
Width = 405
End

Begin VB.Label IblPeriod

AutoSize = -1 "True
Caption = "Period"
Height = 195
Left = 5760
Tablndex = 2
Top = 390
Width = 450
End
Begin VB.Labe! Label3
AutoSize = -1 "True
Caption = "FyyTLIan”
Height = 195
Left = 4200

frmFactor.frm
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Tablndex =1
Top = 390
Width = 675
End

End

End

Attribute VB_Name = "frmFactor"
Attribute VB_GlobalNameSpace = False
Attribute VB_Creatable = False
Attribute VB_Predeclaredld = True
Attribute VB_Exposed = False

Option Explicit

Dim i As Single

Dim n As Integer

Dim first As Boolean

Private Sub chkFactor Click(Index As Integer)
IblFactorValue(Index). Visible = chkFactor(Index).Value
first = False

End Sub

Private Sub cmdBackToMenu_Click()
Unload Me
End Sub

Private Sub cmdCalculateFactor_Click()
Dim k As Integer

i = Val(txtInterest. Text) / 100

n = Val(txtPeriod.Text)

txtinterest =1 * 100

txtPeriod =n

frmFactor.frm
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i)

{ 9/ [} J J o v o
If first Then "Tuns@ingldlilAidondrI¥uaasd Factor latha §auaase Factor §da select

all factor check box to help user
cmdSelectAll_Click
End If

Fork=0To 8
IblFactorValue(k).Caption = "= " & CalculateFactor(k)
IblFactorValue(k). Visible = chkFactor(k).Value
Next
End Sub

Function CalculateFactor(ByVal factorNo As Integer) As Variant
On Error GoTo ErrorWarning
Dim result As Single
Dim t As Single
t=(Q1+i)" n
Select Case factorNo
Case O: result =t
Case 1: result=(t-1) /i
Case 2:result=((t- 1D)/D*({(1/)-(/(@-1})
Case 3: result=1/t
Case 4: result=(t- 1) /(i *t)
Case S:result=((t-1)/G*t) *((1 /1) - /(- 1))
Case 6: result=1i/(t- 1)
Case 7:result=(G*t)/(t-1)
Case 8: result=(1/1)-(n/(t- 1))
End Select
CalculateFactor = Round(result, 6)

Exit Function

frmFactor.frm
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ErrorWarning:
CalculateFactor = "n/a"
Exit Function

End Function

Private Sub cmdDeselectAll_Click()
Dim k As Integer
Fork=0To 8
chkFactor(k).Value =0
IbiFactorVatue(k).Visible = chkFactor(k).Value
Next

End Sub

Private Sub cmdSelectAll_Click()
Dim k As Integer
Fork=0To 8
chkFactor(k).Value = 1
IblFactorValue(k).Visible = chkFactor(k).Value
Next

End Sub

Private Sub Form_Load()
optPeriod(0).Value = True
optPeriod Click 0

first = True

End Sub

Private Sub Form_Resize()

If Me.Width <> constMinWidth And Me.Height <> constMinHeight Then
Me. Width = 7455
Me.Height = 4770

frmFactor.frm
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End If

End Sub

Private Sub optPeriod_Click(Index As Integer)
If Index <> 3 Then
IblPeriod = optPeriod(Index).Caption
Else
IbiPeriod = txtOther
End If
End Sub

frmFactor.frm
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